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S=1  (Ortho)

S=0 (Para)

de temps
Constante H
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HD

75%

33%

83%

67%

17%

25%

Fonction d’onde ANTISYMETRIQUE (fermions)

Pas de SYMETRIE (fermion + boson)

Fonction d’Onde SYMETRIQUE (2 bosons)

6,4 jours

S=1  (Para)

OU (Ortho)

D
2

S=0 S=2
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i FLOW

CONTROLER

DISTILLATEUR

Reservoir 1

Reservoir 2

Reservoir 3

Reservoir 4

Reservoir 5

Reservoir 6

0,5 inch 0,25 inch

46 litres

Reservoir tampon 2x 90 l

90 l 90 l
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Spectrometre de masse
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Vcp
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Bouclier
anti-radiation

H2

Manifold ( HD, H2, D2 )

Tete froide

50 ml

250 ml

6 moles
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H2

Colonne de distillation
ou colonne de Stedman

Condenseur

Stedman Packing

Bille de verre
 diametre: 1mm

Reservoir de H2

Entree sortie du
melange HD,H2,D2

Reserve H2 
pour thermaliser 
le HD.

Resistance
pour porter
a ebulition
le HD

Thermocouple

Contient
jusqu’a 12 moles
de HD liquide

Vide d’isolation

���� ��E ( ������ �� ���
�		�
��
#



�� ������	
 �� 
����������� �� HD

�� ������� 	� ������������

3� ������
 � ��� ���	�2��
 
� $
		
 �4� �
 ���$��	 ���
	$
	 �����
�
�� �
 ��	�� 
�
�
�� �
 �� ������������ -�� ��	�!	���
 ��I�� /� @��
 �
��	
 �O �
������	
� �
 ����
���	 �� ������	
 �
 H&� �� 
� �
 ������
 �
 �
�8 ��	��
� ��������
��

( 	� !�

�� '���� -��!��4�
 ��	 �� 4!�	
 ��E / 
�� �
�����
 � 	
�
$��	 :��2�"� ��
���
� �
 HD ��2���
 -�
 2�� ��		
����� � �� $����
 �
 �HB ��/� @��
 �����
��
�� 4� 	������� �
 �E ���� 
�	���� �����	 �"�� �����	� 
� $
		
� �
 4� 
��
������� ���	 ��	�
	 � ���������� �
 HD� 3� ��������
 
�� ���	��
 ��	 �� !��� 
	��
�	 L@++% 3���	���	� 
� D�U
	 ������ O� �BBH 
� �"���
����
 �
 B �
H� F����� %4� �
 ����
��
	 �
 4� �� !���	��
�	& �
� *��	�
�, �
 �H �� ���
��� ��	��
� ���� �
 $
		
 �
 �� ������
� @��
� ������
��
�� �
� ����
��
�	� 
�
���0
� L��!��
�
 ����	��� �"���������� �� ������� ������2�
 �$
� �
 $
		
�
;� � �!��
�
�� ����� ��	 �� �����	� 
� 
��8� -������ �� ���� �
 �� ������
/
�� ��
	�������
 �
	�
����� �
 �
��	
	 �� �
���	���	
 �� ��2���
� 3� 	���� 
����
 
�� ����
���
 � �"
8��	�
�	 �
 �� �)�
 ��.�� 2�
 �
 4� 	��������

( 	� !�

�� ���
� �
 �� ������
 
�� 	
����
 �"��
 �	
�����
 �
 �������
� 
� ���
	
���8�����
 �������
� ���� �� !	����!
 �	�� 4�� �
� �������
� ���� �	
��
� 
� �
	 
��
� �
 �
�8 �	��� ��	 ���2�
 ���
 �4� �
 �
	�
��	
 �� ��2���
 �
 	
�
��
��	
�
@��
� ���� 	
�	��
���
� ��	 �� 4!�	
 ��O�
�"
�� �� 2�"� ��
� �� ������������� 3� ��6�	
��
 �
 �
���	���	
 
��	
 �
 ��� 
�
�
 ���� �
 �� ������
 !���	
 �� G�8 ������� �
 $��
�	 
� �� G�8 �
��
�����
�
 ��2���
 2�
 �"�� ���
��
 *	
G�8,� �"������	
 ���	� �� �2�����	
 
��	
 �� ����

��2���
 
� �� ����
 !�1
��
 ��	 �
� !	���
� �
� ���2�
�� �
 ��
���� ����� 2�"��
!	���
�� �
 �
���	���	
 ���� �� ���! �
 �� ������
� @� �	���2�
& ���� �� 
��
���� 
� ���� �� ����
 !�1
��
 �"
�	����� �
� �������
� �
� ���� $�������� %�
����� �
 �� ������������& �� 
8�	��� ��
 ����
 	���
 
� H2� ��
�� 
�����
 ��

����
 	���
 
� HD ���� ��
 ����
 	���
 
� D2�

�� ���	������

3
 HD $���	��� ���� �� ��	��
 ����
 �� ���������
�	 
�� ����
��� ���� �� ��	��

����
 ��	 �� 	��
	$��	 ����
���� E ���
� �"7��	�!��
 ��2���
� �
� 7��	�!��
 
��
�������
�
�� -� �
���	���	
 �������
/ ����
�� ���� ��
 ����
���
 �����
 � ���� ��
���������
�	� 3�	� �
 �� ���
 
� �	���& �� 
�� ����� ����	
��
�
�� ��	 �
 �	��!���	��
�	

� �	�����	� ���� �
 $����
 ����	�
�	 �� ����
��
�	� ;� ����4��
 ����� �
 �"��
	��

��
	��2�
 �� H2 ��2���
 ���	 ��
	�����
	 �"
��
���
 �� ���������
�	� � �

��� ��	��� ���� �������� �� � �
	�	�� 
�
 	�
�����	�	�� ��
�� �� HD �
 �� 
���������
��� ����

��� 
��	�����
 	��	���� ��� ��� 
��
��
���� �� �� ��
�	��! *� ����	
� �� ��	
� ����� �������

	��
+�������, ��� �	����	
	�� ��
	��� ��  ����� ���� �������� �� 
�������	
 ��� ������ ����
	
� ��



��I� 

��	������ �� ���������� �I

���� ��O ( (�� !��
�		�� �� 	&��!�	����
 �� �
�����

3
 $����
 
8��	�
�	 �� ����
��
�	& �V �
 ����
 �
 HD& 
�� 	
���� �
 ����
� �

$
		
 �"�� ������	
 �
 � �� �
	�
����� �"��!�
��
	 �
 $����
 ������ ��	 �� ����

��2���
 
� ����� �"������	
	 �� ��
	���������� 
� �� ����
������� �� 7
�

���������� 	������ � ��������� �	� ����� �� 	�����������

%4� �
 $��	 ����
�� �
 ��	���
 �� ������������& �
� �	��� �"���
	$����� ��� ���
�������� ���� �"��	�� ��
	��2�
 
� �
�8 ������� ��� ��� �����	�2�
�
�� ������ ����
�
 ������� 
8��	�
�	 �� ����������� 3
� ������� 
� �
� �	��� ���� ���	�8�����$
�
�� �
�� �
 ��	!
 
� �B �� �
 ���!� 3"������
�	 �
 $
		
 
��	
 �
 ����
� 
8��	�
�	 
� �
 $��

�"��������� 
�� �
 �"�	�	
 I&� ��� �
 ���������� �
	�
� �"���
	$
	 � �� ���� �� 2�������
�
 HD ����
���
 �� ��� �� ���������
�	 
� �
 	
G�8 �� ��2���
 ���� �� ������
 �

��
�����

H2 �	��	�� ����
	��� # �	���-�� �� HD� ��	 �� �	
 
��	� ������
 
��
 �� ���
����� �� �	�
	���
	��!
�� ����	
� �
 �� ��	����
� ��� 
���������
���� �

���� �� ��	��
 �����

�� �� ���.���
�	� �� 
�

	�
�����	�	��!



�� ������	
 �� 
����������� �� HD

����� �����
�

�� �� �� �
�

���

��

3� ������������ � ��� � 
� ��
� ��8 ���� �
 ��$	�
	 
� ��	� �BB� � �"���$
	����
�
 ��	����
 �� ��� 
� �
��
 �
 S+�& �� ���	� �� ���� �
 ��$	�
	 �BB� � �"���$
	����
�
 7�		������	! ���� �"���� �
 ��	!���
 ��8 @���� ����� 3
 �	������
 ���$� 
�� �

�)�
 ���� �
� �
�8 ��� 
� ���� ���� �	�������& ���& �
 ���	�	
 ��	�����!�2�
�
��
�"
��
���
 �
� ���	������ 
� �
��	
� 
6
������

����� ������� 

( ���!���
��� �� ��" ' 3
 !�1 
�� ���� �� �����!
 �
 H2, HD 
� D2� 3
�
����
��	������ 
�����
� �$��� ������������ ���� �
 98R ���	 �
 HD 
� �
 1R
���	 �
 H2 
� �
 D2�

( �
�
 �� �
������
�
��
 ' 3
 ���
 
� �	��� �� �	��!���	��
�	 
�� �����
 �� $
���

�� ����� �
 �� ������������� K� ���� 
� 
6
� �����
	 �	
�2�
 �� �
�	
� ���	
���
���	
 �� �
���	���	
 �������
 �� ������
� 3� �
���	���	
 �"�2�����	

� $��
 -���� HD/ 
�� �
 11, 2◦C� 3� �	
����� ���� �
 ���������
�	 
�� ���	�
����	�
�	
 � 10−6mbar�

( �
�
 �� ��		��
��
 ' %� ����	�& ���� �
� 	��
	$��	� ���� $��
� -�	
����� ����	�
�	

� 10−5mbar/� 3
 	��
	$��	 ����	� � -�� 4!�	
 ���/ 
�� ���	� 	
������ ��	 ��
����
���
 ����
���� �
 HD � �������
	� ;� 	
����� �
� 	��
	$��	� �& I& � 
� H �$
�
�
 HD 
� �"������ �
 �� �	������
 ���	 $��
	 �������
�
�� �� ����
���
� 3�
�	
����� ���� �
 ����
��
�	 
�� �
 �&H ��	� 3
� 	��
	$��	� ������� ������ �E ���	
�&
�
 ����	
 �
 ���
� �
 HD �	��
�� 
�� ���� �
 n = 46.1,5.1,0132

22,4136
.4 = 12, 48moles

3
 	��
	$��	 ����	� E 
�� ������� ����
 $����
 ������ �
 ����	��� 
�& ���	
4��	& �� 	
�
� 
� ����
 �
 	��
	$��	 ��

����� ! " #��	�������� 	� HD

;� ��$	
 �"
��
���
 �
� $���
� 
��	
 �
� 	��
	$��	� 
� �
 ���������
�	� 3� �
���	� 
��	
 ����
 �	����
�
�� � 27, 15◦C& �� �	
����� 
�� �
 ��HB ���	� W���	
 �
�	
� ����
��	�& �� �
���	���	
 
�� 	
�
��
���
 � 11◦C 
� �� �	
����� 
�� ���	� �
 � ���	� 3

HD � ��� ����	
��
�
�� �	������� ���� �
 ���������
�	 
� �� ���
	$
 �
� ��	�
��8
�
 !���
 �
 HD ���� �
 ��� 
� �
 ���� �
 �� ������
� %4� �
 $��
	 �������
�
��
�
� 	��
	$��	� �� ������
 �
� �
�8 �	������
� ���� �� �
	�
 �� $���
 �� ���� �	���

�� ���������
�	 �4� �
 �������
	 �
 $����
 �� ����
��
�	 ��	 	����	� � �
��� �
 ��
�������������



��I� 

��	������ �� ���������� �H

����� $ " #���������� 	� %�



�8 :��	��
� �������
� ��� ��� ���
����	
� ���	 �	��$
	 �� ����� �
 ���������
 
�
�� ������������� 3� �
���	���	
 �
 �� �)�
 �	���
 
�� �"���	� 	�!��
 � 21, 5◦C�& �
� 
��	���	
 ����2�
 �
 ��2��������� �� HD � �� �	
����� �V �"�� � �	�$�����
 -810mbar/

3
 ����� �
 ���������
�
�� �"����
�� ���	� 
� 	�!���� �� �
���	���	
 �
 ����
� 
������ 
� ���� �
 �� ������
 
� �� ��������
 ���	��
 � �� ���
 �� ���������
�	 ���	
��	�
	 �
 �����!
 � �����������

3
� �	���	
� ���	 ���
��	 �� ����� �
 ���������
�
�� ������������ ���� 
��
���
� 
�
�
�� $���
��� ;� $
�� 2�
 �
 ��2���
 ���� ����!	��
�
�� �� ��
� �
 �� ������
 �� 
�
��	���
 �
� ��2�
�� �
 *��
����,� 3�	� �
 �"����������& �
 ��$
�� �� ��2���
 �� ���
�
 �� ������
 	
��
 ���������

�
�
�����& ���� �� �	
��
	 �
���& �$
� ��
 ��������
 �
 �&H F���& �� ���
	$

��
 ������������ �
 ��2���
 �� ����
� �
 �� ������
� �
 �	�����
 ����	�X� ���	
��
 ���������� �	�� ��	�
 �� HD� K� ����	� �����
	 �� ��������
 :��2�"� B&HI F���
���	 �� $��	 �����	�X�	
� 
"�� �����	
 !���	��
& �� 
�� ����	���� ��	� �
 �� ���


� ����
 �
 �� ��	�������� �"��!�
��
	 �
� ��6�	
��� ��	����	
� �
 ���� ����
�
��
�������
� �� �� 	
��
��
 �
��
 �����!�
& �"�2�����	
 �"�������
 ���� ��Y������

N����
�
��& �� ���������
 �$
� �� ����
��
�	 � 21, 5◦C ���	 ��
 �	
����� �

890mbar 
� ��
 ��������
 �� ��
� �
 �� ������
 ���	���� �����	 �
 � F���� �����

�
�� �
� �#Y��
��� �
 $��������� 	
������ �� H2& �� D2 
� �� HD& �"�2�����	
 �

��	����	��
 ��	 ��
 ��!�
������� �
 �� ����
��	����� 
� H2 -����
�� �
 ���� ��!
	/
���� �� ��	��
 ����	�
�	
 �� ���������
�	-�� �	��$
	� �
� �
���	���	
� �"����������
�� H2& �� HD 
� �� D2 ���� �"���
8
 %/�

����� & " � �������� 	� ��'

;� 
8�	��� �"���	� �
 H2� 3
 !�1 
�� �
��
�
�� ����	� ��	 �
 ���� 
� ��$	��� �

$����
 �
 ������������ $
	� �
 	��
	$��	 � -4!�	
 ���/� 3� $��
��
 �"
8�	������ �
 ��
�������� 
�� ����	J��
 � �"���
 �� ��������	
 ���	�� �� ��	�!	���
 ��I��� �
 �
	��
	

�� ������� � ��
 $��
�	 �
 �H ��P���� �
��
 $��
�	 � ��� �������
 ���	 2�
 �"
8�	������
�
 �
	��	�
 ��� �"�2�����	
 �� ���������
�	� D��� �	������
��& �� ���� 2�
 �
 G�8 �
 !�1
��	���� ���� �	�� ����	�
�	 �� 	
G�8 �
 ��2���
 ���� �
 ���������
�	� D��	 ��
 ��������

�
 � F���& ��
 
8�	������ �H ��P��� 
� ������� 2�"�� S���
 �
	�
� �"�$���	
	 B&BB�
���
 �
 HD& �
 	����	� 
��	
 �
 	
G�8 
� �"
8�	������ 
�� �
 ���8 �
 	
G�8 *	, '

r =
reflux

extraction
=

1.Js−1.0, 001mole.J−1

15mlmin−1.(1/60s).(1/22400mlmole−1)
= 90 -���/

��� H2 �
	�	�� ���� �� 
��������� ��
 ��	�
��� ���� �����	��� �� 
������
��� �� �	�����

	�� ��

���
 �����	���� # 20, 4◦$



�E ������	
 �� 
����������� �� HD

3� 	
��	�������� � �"����	�
�	 �� ���������
�	 ����� ���� MB ���� ���� !	���
 2�

�"
8�	������ �� �����!
� ;� � 
����� 2�
 �
�� ��Y���� ���	 2�
 �"
8�	������ ����
��
 �
	��	������ ��!��!
���
 �� ������
& ���� �� $
		� ���� ��	�& � �"���
 �
� ��� 
!	���
� �
 +����
 
� L��
�
& 2�
 �
 �"
�� ��� ���
1& r = 150 ��	��� ��� ����
�������������

����� ��
�
 ��� ������
��

���

3
 ����� 
�� �	�!	���� ��	 �H ��P��� 
� �
 	��
	$��	 E ��$
	� �� �
�	
� �
��
 
�
�� ��	�� �
 ����� �
 �"���������� �� HD� L��� �� ���! �
 �"
8�	������& �� 
6
���

��
 ������
 �� !�1 � �"���
 �� ��
��	����	
 �
 ����
� 3� ����
��	����� 
� H2 ��
!�1 
8�	��� �� ����� 
�� �
 �BR± �R -
		
�	� ���������2�
� �������
� �� �	��� 
��	� �� !�1 $
	� �
 ��
��	����	
 
� ��8 ���
	�����
� ����
	���� ��� ��������!
/� 3�
����
��	����� 
�� ��
� ��	!
�
�� ����	�
�	
 � �
 2�� � ��� �
��	� ���	 �
 !�1 �������
����
��
���� MQR �
 HD 
� �R �
 H2 
� �
 D2� K� � � ���� ��
� 
� �� 
�	������
 
�
�� 
� H2 �
 �� ����
 !�1
��
 
� �)�
 �
 �� ������
� 3
� ������ �
 �
��	
 
6
�����
���� 	
�	��
���� ��	 �� 4!�	
 ��Q� ;� $��� 2�
 �� ����
��	����� �
 H2 �� !�1 
8�	���
���	�X� �	�!	
���$
�
�� $
	� B�

%� �
����� �
 �R& ��	�� 56 �
�	
� �"
8�	������& �
 ��
��	����	
 � ���
��� �
 �
���
�
 �� 	���������� K� �"
�� ���	� ���� �������
 �
 �
��	
	 �
� ����
��	������ �
 H2�
%4� �"
����
	 �� ��
�8 �"������� �V �� ���� �"�		)�
	& �� 
6
���
 ��
 
8�	���������
� �"���
 �"��
 
8���
���
��
 ��	 �
 !	���
 �
 �� 4!�	
 ��Q� ;� �
��
 ���	� ���
���	

�� ����
��	����� $����
 ��	�� O �
�	
� �"
8�	������ �������
����	
�

3"
8�	������ �
 �� �	������ 	���
 
� H2 
�� �		)��
 �� ���� �"��
 ��	�
 �����

�
 ������������ �
 EI �
�	
�� 3� �	
����� ���� �
 	��
	$��	 E 
�� ���	� �
 720 ���	�
3"����!	����� �
 �� ���	�
 �
 �� 4!�	
 ��Q ����
 �� 2������� �
 H2 
6
���$
�
��

8�	���
 �� �����!
� ;� ����
�� nH2extrait = 0, 06 ���
� -
� nHDextrait = 1, 48 ���
�/
�
 2�� ��		
����� � 0, 5R �
� �� ���
 �������
�� K� �
���
 2�
 �
�� �
 ���� ��� ��Y����&
�� ����
��	����� �������
 ���	���� �����	 �
 1R� �
�
�����& �
 ��
��	����	
 �
 ����

���� ���� ���������� �
 ���� � ��� �
	��� �
 ������	
� @���	
 ��
 ����& �� ���
�����
�
 ������
	 �� ������
 �
 �
��	
 �
� ����
��	������ ��Y����
�� �
�����
 �
 ����
�
���	 9 ����� ����	� � �� ���
��	
 �"
8���������� �� ��
��	����	
 �";	��� ���	 �$��	

�4� ��
 �
��	
 �	����
 �
� ����
��	������ ���
��
� ��	� �
 �
� �����!�
� -3
�
	�������� ��4������ �
	��� ������ 
� ���������� �
 �� �
��	������ �� ��
��	����	
 ��
��	�!	���
 H��/�

��
 ���� �� �	������ 	���
 
� H2 
8�	���
 �� ����
��
 � 	�����	
	 �
 HD *��	,
���� �
� 	��
	$��	� H&� 
� I ����
���$
�
��� �
��
 ����
 �	
��	� Q :��	��� 
�	���

�&�

� ����� ���
 ������� �� ��� ������ ��	� ����
��

	�� �� �	
 '
�� 	�
�������� �� �������
�
���� �����
��� ���� � 	
�� �� ������� �� HD � �
 �� ���

	�� ��	 ��
� �	
�� �� D2!



��I� 

��	������ �� ���������� �O

mBar 
0 50 100 150 200 250 300 350 400

%
 H

2

0

2

4

6

8

10

12

14

16

18

20

22

Start + 2 heures + 56 heures

���� ��Q ( �� 
�!
����
� ��� 	&�)�	�
��� �� 	� ������

�
��� �� H2 ���
��� ���� 	�
��	���� �*

��
 �� ���
�		�
��
 �
 ����
� !�
 	� �!��

��+

� �� ����� �� ����
��� ��
	� !
������ �� �'�
 ���� 	� 
���
)��
 , -�, 	�

��.# (� !���
 �
�

 -< 1mbar. ��

��/
!��� 0 	&��)�

�
� �� ��'�
�+

� �!
+� 1� ���
�� �� 
���
��	�
��� ���� 	� ���
�		�
��
#
�� � ���	����
 ����%�� 	� ��

��!������� ��

� 	� !
������ ���� 	� 
���
)��
 �
 	�

��!� ����	�#



�Q ������	
 �� 
����������� �� HD

����
 �� ��	���
& �� ����
��	����� ��
 ��	 �
 ��
��	����	
 �
 ����
 ����
 �� ���8
�
 HD �!�� � 99R ± 0.9R 
� ��
 ����
��	����� 
� H2 
� 
� D2 ���������
 �$
�
0� 3
 �
	��
	 :��	& �� �"� ���� ���
1 �
 ��2���
 
� ��� �
 �� ������
 ���	 ����	
	 �

	
G�8 �� HD ���� �
 ���������
�	� ;� �		)�
 ���� �� ������������� ���� �"�$��� ���
���	� ���
	$� �"��!�
������� �
 �� ����
��	����� 
� D2�

3� �
	���	
 ����
 �������
 � 	�����6
	 �
 ������
 
� � 	
��
����	 �
 �����!
 	
�����
���� �
 	��
	$��	 ����	� �� ;� �
��	
 ���	� ���� �
��
 �
	���	
 �	������ � �"���
 ��
��
��	����	
 ��
 ����
��	����� 
� D2 �
 3, 2R� 3
 �����!
 	�����
� �� ��� �
 ��
������
 ����� ���� ��
� 	���
 
� 

���	����

��� ��������� �� ��
����	�


3
 �	������� �	�����
 2�
 ���� �$��� 	
�����	� ����
	�
& �� �"� $�& �
 ���$� �
�
����
��	������ 
� H2 
� D2 �� HD� K� ���� �
���
 �$��
�� 2�"�� 
�� �������
��
���
����	
 �"������	
	 �� �����
 �
 ������������ �4� �
 �
��	
	 �
� ����
��	������
�������
� �$��� ������������ 
� �
 �
� ����	J�
	 ��	��� �
 ����� 
�� �"����
�	� �������	�
����
 ��
 �	��	��� 2�� ����
	� �$��� �� ���
 
� ����
 �� ���������
�	 ��� �)�
� ����
�$��� ���� �������� � ;	��� �� ��
��	����	
 �
 ����
 ���� �
� ��	����	����2�
�
������
�� �
 ���� �
��
� �� >5% ������� ��8 ��% 
� 2�� ���� �
	�
��	� �
 ���$	

�"�$������� �
 �� ������������ :��2�"��8 ���� ����
� ����
��	������� 3� �
��	������ 
�

�� �����
 ��8 ������	
� � 
� H�

D�	 ����
�	�& �
 	�!��!
 *� �"#��, �� ������
 �� �	�$
	� �
 �� ������
 
� $
		
 �

�
	�
� ��� �"���	���
	 �� 2������ �� ���������
�
�� �
 �� ������
� % �
��
 �$���
���� �� ���	���
	 �� 2������� �
 HD ��2���
 �� ��� �
 �� ������
� K� �"� ��� ���
�������
 ������
�� �
 )��
 �� �� ������
 �
 ��
���� ����� ����	�
 �� ��� 
� ��2���

��	 ����
 �� ���!�
�	& �� �)�
 �� 
��
 �
 �"����� 2�
 ��	��
��
�
��& �
� ����������
�"���
	$����� ����� �	�� ���$���
�� %���� �� �
���
 2�
 �
 ���������
�	 �"��� ��� ���� 
������ �
 ��.�� �������
& �� 
� :�!
	� �� $� �
� ����
��	������ 4���
� �
��	�
� �
�� 4� �� ������	
 H� ���� $������ ���� ���$��	 ����	J�
	 ���� 
Y���
�
�� �� ������ 
������ 
� ���� �6	�����	 �
 �� ������
 
� $
		
� 3
 ���������
�	 �";	��� �
$	� ����
�
	�
��	
 �
 ���	
 $�	�
	 �
� ��	����	
� ���������
�& � ����	�� �
 ��$
�� ��2�
� ��
�	���$
 �
 !�1& 
� �
 $�	�4
	 �"
6
� �
� $�	������� ��	 �
 	������� 4���� �"
�� ��
 $� 
	�����
 ����
 �
 �� ������������ 2�
 ���� $������ ���$��	 �
�
	 � ;	���� 3"
��
���

�
� ������	������ 
� ����4������� 
6
����
� ���� �	�����
� �� ������	
 ���$����



�������� 	


���
�������� �� �����

�����

���� �������� 	�
 ���	�
 �� ��� HD �	 �

 
�����
��	� �� ��

���� �� 
�

��� ��
�������
��� �� HD 
�� 	� 
�
� ���� �� �������
��� �� 	� ���	�� ��� ����� ���
 	� HD
��� 	��� ���
 
������ ���
 	� �������� ���

 ��
 
��
�����
 ��� �
 ����
�� ���

�	 �

 ���
���	�������
 �	��
���� �� �������� �� 
�����
 ��
�������
� �� ��		�����
���
�����
� �� �����
��  ���
 � ���
�
 �����
 ����
���� ���	���
 ��	�
 �� !�" ���

�� ���� �� �������� ����!�
 ��� #
�

$%��
 �
 �� ������ �����
�� 	�&����!��� ��
'������ (	 � ���� �
� ������ ���
 	� ����� �� ���)�
 &*+(�# �� ����	����� ��
��
������ ��

�		�
��� , 	�(�- ��.�
���

�� �����
�� ��������
 � �����
 	����������� �����
� �����
 	�
 �����!��
 �� ��

�	$
	�
���
 �� HD ��� #
�
$%��
� -�
�����
/ �� �������� ����	���
 ��
 �
� 
��	���


��
 �� ������ �� 	� ������	�
��� �� ��
��
�
�� ��� �� ���
�0	� �
 �� 	� ��1
��
� ��
	� ��

�		�
��� �		�$����� �� �����
�� � ���� ��
 �� ���
��
�� 	�
 
�	�
���
 ��� ��

�
� ����
�!��
 ���� ����	����� 	� ��

�		�
��� , .�
���

2	���	����
/ ���
 ����
 �����
� ��
�� ��3����� ��
��� �� ���� ���
� �� �������
�������� 	� 
���	����
��� �� ��
��
�
�� ��� �� ������� 	�
 ��4

 �� ����	�������
 �

������	���� 	� ��
� �� �	��� �� 	� ��

�		�
��� ��� 	����	��
�
��� �� 	� ���	� &*+(�#
��� 	� ��		�����
��� 2566� ����

�
��� ��
 ����
�
�
 �� HD ������ ���������	�
�
�� �������� ��� 
���
���	� ��
��� �� 	��
��� �� 	� ��

�		�
��� ���������
 ��
�� -��

���	��
 �� �7�
 ������� ���������� �
 ����������� 	� ����
��������
 �� ��

�		�
���
��� ���� ��
���
�� 	� ����
��������
/ �� ����
 ����
 �
� 	� ��������	 ����	��� ��

�����!��
 ����������
� ���� �� �����/ ���
 �		��
 !��������
 ��!���
�� 	� ������
�� ����

 �� ��
��� 8���

���/ 
������
���/ ������
��
���
 ��
 ���

�
���

 �� !�"9

�� 	� ��
��
�
���

:����
 ���
 �� ������� 
���
 ��� ��
����
��� 
��
 !�����	� �� �������� �� ���$

����
��� 
�� 	����	 �

 ��
� ��
�� ��

�		�
���� �

 ;



<= �����
�� <� +���	�������
 �� ��

�		�
���

��� ������	
 �����
� �
 �
 �������
����

����� �� ���	�

�	��� ��
�
�

�� ��

�		�
��� �

 ��� 
�������� �� 
�����
��� ��
�� 
�� 	�
 ��7������
 �� ��	�$

�	�
� 8�� ���

��� �� ������ 
�
����
�9 ��
�� 	�
 ���

�
���

 ���� ��	��!� 	�������
���
��� ��

� ��7������ ���

�/ �����
��� 
��� ��� ��� ���� ������� �������� , ���
��

�		�
���/ �
 ���� ��� 
������
��� ������/ 	� ���
� 	������ �
 	� ������ ��� 
���
������� ����
 ��
 	� ���� �����
�
���� �� ���
� !�"��
� �

 �� �7�
 �������� ��
�	����

 	�
 �	�
 ��	�
�	
� ������ �

 �	��
 �� ���
�� , ���		�
��� 	� ���
� 	������ �
 ��
��������
�� 	� ������ ��� ����
���� �� ������� ��	��!� 8����	� ��

�		�
9 �	�
 �����
�� �	����
 ��	�
�	� (	 �

 �	��
 ��

��	� �� ���
�	�
�� 	� ��

�		�
 ���� ����� ��� ���$
��		� ��

�		�
��� �
/ ���
�/ �����	����� ������ 	� 
�����
���� ��

� 
�������� �����

�� 
������ �� 
������ 
�
�	����
 ���� �� ��	��!� ������� 	�
 ��7����

 ���

�
���

/
���
/ ��	������
����
/ ���� �� ��������
 ���
����
 ��	�

����� �� ���	����	���

6�� �������1
�� 	� ��������
 �� 	� ��

�		�
���/ �� �
�	�
� �	�
 !�����	����
 ���

�������� ����	�� ���
����
���� .� �
�	�
� ���
 �� ��
 ��� ��	���� ���
���	� 8��
�
>��	���� , ���
����? �� >��	���� �� ��

�		�
���?9 �� ���� �� 	����		� �

 ���
� ,
���	�
��� 	� ��	��!� 	������ ���
 �� ���
 
������ 	�
 ���

�
���

� %�� �����	�
���
�� 	������ 8����	�� ��3��9 �

 �	��
 ��

����� �� ������
��
 	� ������ �� 
�
� ��
	� ��	����� +��
 	� ���� 
���
/ 	� ��3�� �

 ���
����� , 	����� �� �	�
���� ��
���� !����

�!� ������
� �	���
 
��
 �� 	��! �� 	� ��	���� ��� ���

���� �� ���
��

������	 ��
�� 	� ���
� 	������ �
 	� ���
� !�"��
�� 6 	���
������ ��
�� ��
 ����
���
�
/ �� ����	���� 
��
��	�
 @ 	� 	������ 
���������
 �� �����
� 	� �	�
 ��	�
�	 ���

� ������
� �
 	� ������ 
���������
 �� �����
� 	� ����
 ��	�
�	 ��� 
� ������
��
������!�� ��������
 �� 	� ������
�
��� �� 	� ������ ������
 	�����!�� ����

���� ,
	� ������
�
��� �� 	������� .� ��
���� �	��
 �� �������

����
 �� �	����

 ��	�
�	

�

���� , ��� ������
��� �� 	� 
������
��� �� ��� �
 , ��
��� ��� 	��� �����
� 	�
��	�����

�� 
�����
��� �
��
 �

�� ����� 
����

��� ������	���� 	������$������ , ��7����


������� �� 	� ��	����/ �� �������� ��� 	�������
� �� 	� ��

�		�
��� �

 ��
������

	��� ��� ������
 ���
�!�
 ��� 
�� 
������
 8������ �� �	�
����/ ������ �� �����


�� A
����� �
����9�

�� ����!����� 
�����
 <� ���
��
� ��� �
��� 
�������� �� ������
����
 ��
��

�		�
��� %A� .� � ���
����/ ��
�����
/ 	� ��B�� ���
 	� ��

�		�
��� � �
� ���B��

��� �� ��� ���	 �����
�� ���	 �����	��	 �� 
�
��		�
� ������ ������	 �� ������� ���� ��

�
����
� ��� ��	�
������ ��
� ���



<� � #
��� ���
���� ��
 +�

�		�
���
 %A <C

��
 �����
���
 
��������
 ��� � 
��
 ���
�
/ ��
 �
� �����
����
 ���
�
 �� ����
�
���
 	� ����	�������
 �� ��

�		�
��� ��.�
��� ����
���	� ��
 ������

 
��������

�
�	�
�
 ���� ��

� ���	�
� 
��
 ��
�����

 ���
 	������� ��

��� ����
 �������
 �
� �������
����� ��

����� ��	��
���	��� �� ��� 
���
�


.� 
� �����
� �����	����� 	� ��	�
��� �� '��
D� �
 ���
�	�
�� 	� ���

���
��� ��
E�� ���� �
 F���	� 8���� ������ �9 �� ��
 �� 	� ��

�		�
��� �� HD 
��
�� ��� %A6/
��� �� 
� ����� ��� ������� ���������
 	� -#F ������� 8-#F G -����� ���
�!�

F��������
9�

�� HD ���������	 ���
���
 
���������
 ;HI �� HD/ CI �� H2 �
 CI �� D2� .�

�����
� / ����
 �� ��������� 	���
���
��� �� H2 ���
 	� ��

�		�
 8���/ 	�
 ������

�� ���
 �� 	� ��	����9/ ����
���� ��� ������
��
��� �� H2 �� ;JI�

6��� 	�
 ��
�
���
 ��
�����
�
 �� ������ �/ �� �/ ���� 	�
 ������
��
���
 �� H2 @

xB = 0, 01

xD = 0, 95

α = 1, 77

N =
ln(xD(1−xB)

xB(1−xd)
)

ln α
= 13, 2

NET = N − 1 = 12

(	 ������ ���� �� ����
 C �
�!�
 
��������
 ���� �

������ 	���)��
�� ��$��

�

�����
�

�� ���

��� �

 ��
�����
 	� 
�����
� @ , ���	 -#F �����
���� 	�����	����
 ��
A
����� �
�	�
� ���
 	� ��

�		�
��� %A K

����� ���	�

�	��� H2/D2

+��
 	� ��������� LCCM/ ��� ��

�		�
��� ������� ���

�� H2ND2/ ���
��
 ���� ��$
	��!� �� C/O ��	� �� H2 �
 =/O mole �� D2 � ������ ��� 
�����
��� H2$D2 ���
 	�
��

�		�
 @ H2 ≥ 99, 5I �
 D2 ≤ 0, 5I�

�� �!��� <�C ����� 	� ���

���
��� �� E�� ���� �
 F���	�/ ����
������
 �� ��

������� ��$��

�
� .� ��
���
 	� ������ ������	���� ��� 	� ��	�
��� @

yi =
αxi

1 + xi(α − 1)



< �����
�� <� +���	�������
 �� ��

�		�
���

0.75 0.8 0.85 0.9 0.95 1
0.75

0.8

0.85

0.9

0.95

1

0.97 0.975 0.98 0.985 0.99 0.995 1
0.97

0.975

0.98

0.985

0.99

0.995

1

3

4
5

1

2

���� <�C P ���������	�� 
� �
� �
�� �� ��	��� ���� ��� ���
�
�	�� 
��� ���
���

H2�D2 
��� �� ��������
�	�� �� H2 ��
�� � ���� 

�� �� ���	������ � ��
��� �����

�	 ��� ���� ������
	��� ���� 
���	�
�� ��� ��������
�	�� �� H2 

�� �� 
	��	��
� 
�

≈ ��!!�"�



<� � #
��� ���
���� ��
 +�

�		�
���
 %A <<

x
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

y

0

0.2

0.4

0.6

0.8

1

0,01

0 0.02 0.04 0.06 0.08 0.1 0.12 0.14
0

0.02

0.04

0.06

0.08

0.1

0.12

0.14

1

32

4

5

10

6

7

8

9
10

11
12

13 14

���� <� P ���������	�� 
� �
� �
�� �� ��	��� ���� ��� ���
�
�	�� 
��� ���
��� H2�

HD 
��� �� ��������
�	�� �� H2 ��
�� � ���# 

�� �� ���	������ � ��
��� �����	 ���

���� ������
	��� ���� 
���	�
�� ��� ��������
�	�� �� H2 

�� �� 
	��	��
� 
� ≈ ��$"�

%
 
��	�� ����
��	�� ��� ������� ���� ��� �
�& 
� ��'�& r = 90 �� ��� ��������
�	��



�� �� 
	��	��
�� xD = 0, 2�

���� αH2/D2 , 20◦Q �!�	 , </=R�

���
��
 ����� ������
��
��� �� H2 �� =/RH/ �� ���
 ��� 	��� ���
 �

������ =/;;J
�� J �
�!�
/ �
 ��� ����/ 	�����	����
 �� A
����� %A �����
���� �� ����
 , J
�
�!�
�

����� ���	�

�	��� �� HD

+�
 ������
 ����
�
�
���
 �� ���������
 
��
 �������
 ��� 	� ��

�		�
��� %A�/ �S
���� �� ��3�� �� ;=/ �� � �� ��
���� 	� ������
��
��� ���
��	� �� H2 ��
 !�" ��
���


��� �
��
 ��  =I 8�� �!���  �H9� �� �!��� <� ����� 	� ���

���
��� �� E�F ���� 	�
��
 ����
��
���� ������� H2/HD/ �	 ���
 C< �
�!�
/ ���� �

������ ��� ������
��
���
�� H2 ��
 !�" , ��
����� �� ;JI� �� ������ ���
�!�
 ��
������ !�����������
 �


�� ������ ���	�
�
�� ���� ��	�� ����� ��� 	� ��	�
��� �� '��
D� 8C �
�!�
9� A�����

��� 	� ���		���� ������
��
��� �� 
��
�� �
��
 �� 	������ ��  =I/ �� ���
 ���� ��� 	�
-#F %A �
��
 �� ����
 �� T �
�!�
�

A�����
 ����
����
 ��� 	� ��

�		�
��� %A ������
��
 T= �0��
 �� A
����� 8<=



<O �����
�� <� +���	�������
 �� ��

�		�
���

�����

9/ �� �� ����	�
 ����	 ���
 �� ����
 ��� �0��
 �� A
����� ���� ������ ��
�
�!� 
��������� �� �!��� <� �����
 ��

� �� ��
������� 	� ��3�� ������� ����
!����
�� ��� ������
��
��� �� H2 ��
 !�" ���	���
 �� ;=I� .� 
�����/ �� �
�	�
��

	� ��	�
��� ��O @

rmin =
0, 9 − fe(0, 01)

fe(0, 01) − 0, 01
≈ 116.

�� r ����
� �� ;= �������
 ��
 �����
 �� ����

�� TR/JI ���� 	� ������
��
���
�� H2 ��
 !�" ���	���
 �
 	� ������ ���
�!�
 , ���	����
 	���
� ��

� ������
��
���
,  =I�

����� ���	�

�	��� HD�D2

�� ���
� ���	� �� ��

�		�
���/ ����
 
�����

��� ���������	� �� H2/ ������1

�

�" ����	�� / 
��
 �� �� ��� �������� 	� ��	��� �� ��3�� ������� ��� 	� ����
� ��
!�" HD ��
���
� �� ������� ���
 �

������/ ���� �� -#F �!�	 , H/ ��� ������
��
���
�� =/;;;J/ 
��
 	�
 10−4 ��� ���
 ���
 �
���
 �

�!��
�

����� ����
������

.� ���
 ���
������ ��� ���� 	� ��

�		�
��� �� ���

���
��� , .�
��/ �� ���

����	�� 
��
 �����
� 	� ������ �� ��

�		�
 �� A
����� ��� ������
 ��� ��	���

��
����
 ���� 	� ���
��� %A� A�/ 	��
 ��
 ������	�
���
/ ��
 ����	� �!�	����
 	�
��	��� �� 
��� �� ��3��/ ���� ������
�� 	� -#F/ �� ���
 
�����������
 �

������
	�
 ������
��
���
 ���	��
 �� H2� #� �� ��� �������� 	� 
�����
��� �� D2/ 	� 
�
��
���
�

 
��
 �������	� �
 ��		�$�� �� ������
 ��
 ��
�� �� ����	���
� .� ������ ����
������� 	� 
��� �� ��3�� ��� ������	���� 	���
���
��� �� HD ����

F��
����
/ �	 ��

� , ��
���� �����
�����
 	� ������ ���
�!�
 �� A
����� ����$
��	��
 , �� �
�!� 
�������� ���� 	� ��
 �� ��

�		�
��� ��.�
��� -��
 ����
�!���
/
���� ��	�/ ��� �������� ��

�		�
��� 
���	� ���� ��	��!� H2ND2 U ���
��
 �� xB = 1I
�� H2/ ���
 ��
������
 	� -#F ���� ������� , xD G ;;I ���
 	� ��

�		�
/ ���� ��

��� �� ��3�� �� C==� -��
 ����
����
 ��
��
� 	�
 �����
���

����
 �� ��

�		�
���
�� ����
��� ��
 ��
�	
�

 �� �� ������� 
�

�

���
 �� �������
����� �� HD �	� �
�	 

����� xB = 0, 99



���� ������	
��� 
� 
��
����
��� ��

��� ������	
��� 
� 
��
����
���

����� 
��� �� 	������ 
��	� ��� 
��������� �����	
������ ��
�� ��
�� 
��
����
���
�
 ����� 
�� �
�
�������

���������	 �		��
�����	 �
�� �� ��	
����
��� ����

�� ����
���� �� ������� �� ����� �
 
��� �� 	��������
� 
� ���
����� �
� ����� ��

��
����
��� � ��� ������� �� ����� �!��
 ��"
��# $��%��� �
 �� ��������
� �!��
 �������
	��
�����&�����
 ����
��� �� ' ���
 %�&�� 	��� (�� �� ������ 
� HD ��(��
� (��
���
 �� 	��
 
� 
��
����
���� )� �#��
� 
!��
��� 
��*��(��� 	��� ������� �� ������ 
�
��(��
� ���� (�!�� ��
 ����
������
 ������ 
� �� ����� +��� �
��������� 
�� �����
�����

��
 �� ������ �*��%� ������
 (�!����� ���
 	���%��� �� ��� 
��� �� HD ��(��
��

⇒ +�
�� ������� ���� $��
� �� ���# �
 �� ������� ,��� �������(�� �������� ����
	����

�� �� �����
�������
 	��� �����(���
 
��� ��� �'�
&��� 
� ���
���� �


� ������� -� ��*��� ������
� 
� 
��
����
��� ��
 ��	�����
� ��� �� .%���
���� �� 	����� �%������
 �� $���� ��� �
�� 
� 
��	���
�$ ��� ��� ���� �� 
����

��������� �
 �� 	*�
� 
� �� ������� .%��� ��/�

-� ������� ��
 ����� $����� 
!�� ���	� 
�������� �� ���# .#� 
��� �� 	��
��
��	������� �� ���
������ 0�� ������1 �
 
��� �� 	��
�� ��$������� �� 	�
 0��
������ �%������
1 (�� ����������� �� HD ��(��
�� ,��� 	��
�� 2 ������
��� �� HD 

�� .�� �����
�$� �*�����
� �����
 ���
�� 
����
����
 ��� �� 	��
�� �#
�������

� 	�
�

,�� �������� �� ������� �� 
3
� 
� �� ������� ��� �� .%��� 4�5 
� 
��
����
���
��6� �� ���%� ������ 
��� ��(��� �� 
�	���� �� ��	��� ����� 
� �� 
��
����
���� 7�

������ ����
 	��� 	����&�� ���� 
�� 	������� 
��
� ��
�����
 �� �� (�� �������� ��
���
����
��� 
� HD %�8��# �.� 
!������� �� ��9�# 2 �!��
������ 
� �� �������� -��
�����	
���� ������
 �����%� �� 
�$��
 �� ��
�����
 �� ������ �
��� �� ���	������
 ��
����
� 
� 	�
�
�� ������ �� ������

⇒ �� �� (�� ���� �������� ���� ����� 
���
� 
� ��		����� �� ������� -� ��	���
��
�� �� ���
��
 ���� �� ���
������ 
����
����
 �� *��
 
� �� ��������

�� �3�� ��# �
�
������ �� ���
������ �
��
 �� ��������� 
!:'
��%&�� ��(��
�
���
���� 2 �!��
� 
� ��'�%�����
���� ;3�� �� �� �'�
&�� 	�����
� �!����
�%� 
�
����
���� �� 	���
 �� 	��� $���
 0�!:'
��%&�� ��(��
�1 �� 	��� ��� 
� ���
������ 
�� �!��&�� 3
�� �� �'�
&�� ���	��#� (�� ���� ����� ���	���� 	�� �� 
��%
 $���

�� ������ �� ���
��
 
*����(�� 
����
 ���� �� ��'�%�����
���� -� 
��	���
���
' ���� ���
����� 2 �!��
� 
!��� �*������

��

�!��
�� 	��
 �� 
��
����
��� ��������� �� ���	��
 	�� �� *��
 
� �� ������� �� (��
�����
�
 
����������
 �� 
*��������
��� ���� 
� �� ���
����
��� ���
���� 
� %�8�



�5 7*�	�
�� �� ������		����
 
� 
��
����
���

���� ��� < ��� 
� 
��
����
��� 
!����'



���� ������	
��� 
� 
��
����
��� �=

���� ��/ < ��� �� �������	���
 ���
�	
� ���
 ��� ����
������ �� 
���
��
 	� �����



�> 7*�	�
�� �� ������		����
 
� 
��
����
���

⇒ -� 
��
����
��� 
!����' ��� �� ���	���� 	�� �� ��� 
� �� �������� �� ����	�����
����� �!��
*��	�� � 
� HD (�� ��� ��$���
�� �!�������� 
� 
��
����
��� �� ������

��
 �� ������� �	�&� �!3
�� ��	����� �� ���
��
 
�� 	����� ������ �*��
���

-!�%�������
 ��
������ 
� �� ������� �� �*��%� 	��� -� ������� ���� ���	��� 
��
�3��� 	�(��
� 
� 6
�
��� (�� ���# 
� 
��
����
��� ��6� 
��
 �� .%��� 4�= 
����
�� ��*��� 
�����	
�$�

��'��� ����
����
 ��� 
�����	
��� %������� 
� 
��
����
����

����
��������
 ������� �� ��	
����
���

,��� ������ �� 
�����	
��� 
� �� 
��
����
��� �� �� ��	��
��� 2 �� .%��� ��/� -�
������ $���
� 	����

��
 
� ���
����� �� HD ��
 $������ 	�� �� ��'�%�����
��� 2

��# �
�%�� ���� ��� �� �'��� 
� ?����
 ;�;�*��� -� 	������ �
�%� $���
����� 2 ���

��	���
��� �������� 
� 80K 
��
�� (�� �� 
��#�&�� 	��
 
�����
�� @��(�!2 10K�
-� ������� 
� 
��
����
��� ��
 	��
�%�� 
� ��'�������
 
*����(�� 	�� �� ��������
�� ������ ������
� �� 	������ �
�%� 
� ��'�%�����
���� -!�������� 
� 
��
����
���
��
 	���%� 
��� ��� ������
� 2 ��
� ����� ��	�����
� ��� �� .%��� ��/

-� HD ��
 ���
�������
 ��
��
��
 
��� �� 
��
����
��� 	�� �� ���� 
!��
��� 0�1�
-� %�8 ��
 
!����
 ��$���
� ��� �� 	������ �
�%� 
� ��'�%�����
��� 2 �!��
� 
!��
��*��%��� 
*����(�� 0�1 	��� ���
���� �� ������ 
� 
��#�&�� �
�%� ��� �� ��
��
��*��%��� 0$1� -� HD ��(��
� ���	��
 �����
� �� 	�
 �� ������ 0*1 ��� �� 
�'�� 0�1� ���
$��� �� ���� 
!��
��� 0�1 $����� 2 �!��
� 
!��� ����� �� 
��
����
��� 	��
 ����������

-� HD ��
 	��
� 2 ������
��� �� �*�����
 �� 	�
 0*1 2 �!��
� 
� �����
�����
���
��� 2 �3�� �� 	�
 ��� �� 	��
�� �#
�������� -� ��	��� ���
� �� ���% 
� ��
������� 
� 
��
����
��� 0%1 �
 �� �����
���� ��� �� 	��
�� $���
� �� ������ �� ���
��


*����(�� ���� �!�
�%� �� 	��� $���
 
� ��'�%�����
��� 0$1� �� 9�# ���
��
 
� ��	���
������ ����� �� 9�# 
�����
��
 
� ��(��
� �� 
������ 
�� �	�(��
� 
� 6
�
���� 
���
�� ������� 0%1 0��� 
������� ���
 �������� ��� �� ��*��� 
� �� .%��� ��� �
 �!�� ��

������� ��� 
�����	
��� 	�%� 4�1� -� %��
���
 
� 
��	���
��� ��
�� �� ��� �
 �� *��


� �� ������� ������� 2 �!�(������� ��(��
����	��� ������� 2 �� ���$��� 
�� �	�(��
� 
�
6
�
���� ��%��
�� ��� ��%���
�
��� 
� �� ������
��
��� 
�� ����
�
���
� ��� 	���
����
��� 0�� H2 �� �� (�� ���� ��������1 �� 
3
� 
� 
��
����
���� �� �#
���
 ����� ��
$���
��� ���*� �� H2 2 
������ ��� ����� 
� ���
�� 0�1�

����
	 ����
���
��� �� ���

-!��� 
�� ����
�
���� 	�����	���� ���� 
�� 
��
����
���� ��6� � �
� 
� �� 	�� 	������
������ ��� ������
��
���� 
� %�8 
��
 �� ���% 
� �� 
��
����
���� -� $��
 
� 
���������

���������	
� ��� �� �
���
�� �������
� �������� �
 ��
��
� 	�� 
� �
�
�
 ����� �����
��� ��

������ �� ���	����
�� � 	����
�� ����������



���� ������	
��� 
� 
��
����
��� �A

�� �����%��� ��
 �� ���
 �� 	�����	�� ���
���� 2 �� ���	��*������ 
�� 	*����&��� ��
@��# ���� 
� $���
��������
 
� 
��
����
���� +��� ����� 
��� 
���
� 
� 
�
�� �!),+

!����' 
!�� �	��
���&
�� 
� ����� (��
��	������ 
��
 �� ���������
� �
 �� ������
���
���� 	����

���
 
� ������ ��� ������
��
���� @��(�!2 
�� $��
���� 
� 
���
��� 
�
�!��
�� 
� 10−4� 7� 	��@�
 �!��
 	�� 
������ �
 �� %���� 
� �	��
���&
�� ��
 �������

�
����� 	��� �� ������ (���
�
�
��� 
� ������
��
���� ����� $������ 
�� ��	���
�� 
!��
%�8� B���� ����� ���� �������� 
��# �*�	�
��� 0/ �
 �1 ���	��
� 2 �� 
�����	
��� 
�
��� ��	���
�
����

B��� �� �	��
���&
�� ���� ������� ��� ��������
 	������ ������ ��� ������
���

���� �� ���
�� 
� 
��
����
��� ���� �%������
 �
�
��� �� $���
��������
 
� �� �������

� 6
�
��� �� ����.��
 �� %��
���
 
� ������
��
��� (�� 
��
 �!���
����� �� ���% 
�
�� �������� )� ���� 
��� 	������� 
� 	������� �� ��*��
����� 
� %�8 �� ��� �� ������
�
 �� *��
 
� �� ������� 0-�� 	���
� 
!�#
���
���� ���
 �������� .%��� 0��/�%1 �����
(�� ��� �� .%��� ���1� )� ' � 
��� 
���� ����� 
� ���
�� 	�������� 0��/��1�

����
	 �� ��	��� �
 �� ���
����

��� @��%�� 
� 
��	���
���� ���
 
��	����� ��� �� 	�
 0*1 �
 ��� �� 
��%
 $���
 0$1

� ��'�%�����
���� ��� �����
���� 	����� �� $��
 
� 	�
 ���� 	����

�� 
� ����
������� 
� �� 	������� 
� HD ��(��
� �� ��� 
� 
��
����
���� �� ������ �%������
 ��
	������� �� 	��
 �
 �� 
3
� 
� �� �������� C��������
 
�� �*������

�� ���
 	������
��� �� 
��%
 $���
 �
 0����� �� �!� ��1 ��� �� 	�
 0*1 	��� �� ���
����� �� 
��	���
����

-!�������� ���� ������
� 2 �� ��
���
��� 2 �!��
� 
!��
��$���� �	����������� -�
������
�(�� ��
�� �!��
������ 
� 
��
����
��� �
 �� ���
� �#
������ �� $��
 �� 
������

� ���
��
� �
���*�� 0��/��1 �
 0��/�
1 ������
 (�� �� 
��	���
�$ 2 ������
�� ��
 
��� ��
��
� 
!�����
��� �� 2 �!��
������ �3�� 
� 
��
����
���� �� ���
 �� 	��$&�� ���
�� 
��

���
��
 
� HD ���� 
�� @���
� �'�
*�
�(��� 
� 
'	� ��
�� ��� 
������� ��������


��	 $��������
 �!:'
��%&�� D �� �
������� 
��� 
�� @���
� ��
����(��� 0��/�
1 � �� ��
(�� �������� ��� 
��	���
�$� ��
��� 
��� �!������
� 2 ��
� �� �
������� ���� 	����&��

�� @���
� ��
�� 0��/��1�

��������
��� ��	 ��� �  � ������
���

-� ������
��� 
�� %�8 � �
� ���	��.� 	�� ��		��
 2 �� ������� �6� )� ��
 ��	���
���
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Clapet

Spectrometre de Masse

Distillateur

de pompage
Vers groupe

Voie d’entrée
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Selecteur

Sorties

de sécurité

240 litres

Vanne

Pompe à Membrane

Débitmètre
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Système d’introduction

Volume contenant l’échantillon
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� ���� ��� �� ����	���� ���
� � 	� ������ ��� ��
��
������
� ��
D2 ��� ����� �
 	
� �� �	 �����
� 
��	�����	� � 10−6 ����� F��������� �
 ��
��
�� �
������		�� � 2 10−6mbar ��� 	� �����	��� ��� ���
��' ��� ���		���� �� 	�� ������� �	��
���������

!	 ��� �������
� �� �������� ��� 	� ����	��� ��� 	������
� ����	��� ��
� 
���� ���
��� 
��� 
��� 	�����
� ��� � ������� �� ����	�� ��
��
������
� �� H2 �� �� D2 ��
� ��
HD� ��
�� 	�� �
��������
� �
��� ��%���
�� �������� �� ��	�
�� ��
� 
��	�����	���
A��	� 	
�
��������
 �
��� 	
��
 HD+ �� 	� ��	���	� �� HD �
��� �
 :�� �� ��G�

���
��������� 	�� ������ ���
� ���������� ��� �� ���
� ���' ������ �� ���
�����
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��� �� ������������

���� 2�8 ? $���
�� �	
 ���
 �
��	
�
����� �� D2 %��

	 �& 	� �� HD %��

	 '& 	�
�
����
� �	 �� ��	

�
� �	 ���)��� ���
 ��	��	���	 �������
	� (� ����	����� �� ��	
*

�
�� 
� 
�
	�)	 ����������
� �� ����
���	 �	 �	�
������

�� -�	
� �� �
��������
�
�	
 �
� H2D

+ %��

	 �& +�� ����
.� ����������	 �� ��� �	 ��

	 ��

E�
� 	� ��� �
�
 ��	�
�� ������
� �� HD� H2� D2� 	� ��
��������
 ��' ��%���
��
���� ��� � 	� �������
����
 ��� ��
����
 ��� ��
��
������
� �� ������ �������� �
	� ��%���
�� �� 	� ������
�����
 ��
� 	� ��
��������
 �
�
 ������� � �
 ��� ��

�

� ����
� ��� �� 	� ��
��
������
 �� ������� �
 �������
� $���� �
�������
�� �
���
�	���
� �� ��	�
�� ��
� 	
�
�	��� �������	������
� ����	�'� �� �	 

��� ��
� ���
���������	� �� �� �	���� ��
� ��� ��
�����
� 	��

;���
�� ��� �� 
��� ������		�
� ��� � ��	�������
� ����� �������
 )2.10−6mbar*
�
��� :������
� ���� ������� ������� �� ���� ����	�� ��
��
������
� �� H2 �� D2

��
� ���� ����
� ������ ������� ��� �����
�� ��
����� ���� ����	�� E�
� 	� ��� �
�
�
��
��
������
 �	�� ������ ����� ��
����
�� �������7� �� 	
�
 ���� �	��� ��
� ����	���
������		�� � ��� �������
� �	�� ������� �
��������� � 10−6����� �H 	� �������
����

�����
� ����	���
� 
��	�����	� ���� ���� 	�� �������� �� ��	�
���

����� ���������� ��	 �� �����	� 
� � ��	

#�� ������� ��� ���' ����������� �������
�� 
��� �
� ������ �� ���
����� �

����� �
���	����� �� ��� 	�� ���
���
�� �� �������

���
� �� �� �������
����
�
;��� �����
� ��
� ���
��
�
� ������� 	
�		��� �
�
 ������� �� &E ��� � 2 10−6mbar�

E� 	� �/�� ��G�
 �
 ���� ���
�� 	�� �������� �� D2 �� H2 ��� � ������ ��� �������
�������
���� ��� 	� ����� 2�6� $�� ����� ���	���' 
��� ���������
� �� ���
�� 	�
������� �
���	�

��� �� ������������� $�� �������� ��
� ��������	�� ��
� 	� ���	���
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(���� 6 5 8 9
HD ��� 4, 3 10−3.AHD 3, 0 10−3.AHD AHD 1, 4 10−4.AHD

H2 ��� 5, 4 10−3.AH2 AH2 1, 4 10−4.AH2 0
D2 ��� 0 4, 0 10−3.AD2 0 AD2

���� 2�9 ? ��������	 �	
 ���
 ���� 
�	���	 �
��	
�
����� � �� ��/ ��� �	 HD �	
H2 	� �	 D2� AHD� AH2 	� AD2 �
��	
�
��	�� ��# ��������	
 �	
 ���
 ���������#�

2�9�

����! ��	����	������� 
�� ������������ �������� ���	 �"������#

���� 
� �����	����	�

���� �������
�� 	� ������ �
���	�

��� ��

�
� 	�� ��
��
������
� �
�
 �	���
�
�
 ��
����
 �� 	
���	����� �� ��� ������� ��
� 	� ������������ �� ������ �	 ��B����
�
�:����� � �� HD ���� ��� ���
����� ��

��� �� 	
�	���
� � �
�	���� �� �� ������
��
�� ��
�� 	� ������ �
���	�

���� $���
��
�� 	� HD �����
��	� ��
���
� ���:����
���	���� ������
�� �� H2 �� �� D2� ;��� 
��� �������
� ��
� �� ���������� �� ���
����� 	� ������� ���	���� ���� �������
�� 	�� ��
��
������
� �
����	�� ��� ����
��		�
�
���	���� ���� 	
���	�

��� �� �������������

+
 ������ 	
�
��
���� �� ���
�	 ���� ��%���
�� ��	�
��� �� �� �
 �
��������
�
��� ���
����� ��

��� �� H2 �� �� D2 ��
� 	� HD� +
 ��������� �	��� 	� �����
�� ��
�� ���� �
 ������� ��� ���
��' ��� ���
���
�� ��

�� �� ������
�����
 ��
�� �������
����
 )���� ���� �����
� 	
�
 � ������� �
 �������� �� �������� ��'
����������� �������
��*� +
 ������� �	��� 	�� ���
��' �
�	��
�� �
 ��
����
 �� 	�
��
��
������
 ��� �
� ������ �	 ��

��� ��
 ��� ��
�����	� $��� ��� 	� ���
����� �/��
�� ���� ��� 	�� �� ���	���� 
� ��
� ��� ����� 3
 �������� �����'������
� ��� �'���	�
���� �� D2 ��	�� ��
� 	� &E� �
��� 	� ��
��
������
 �
����	� �� D2 ��
� 	� HD ���
��
��� ����� ������� I��
� � 	
������ �
����� ��� 	� ��
��
������
 �� HD ��
� 	�
D2� �		� ��� ���� � ���� 
��	�����	� )�
������� � 10−3. ���� �
� ��	����
 �� D2 ��
	
����� �� �������
�*�

A� 	
�
 
��� xHD
D2

	� ��
��
������
 �� D2 ��
� 	� ������		� �� HD �� x 	� ���B���
�
�� ��	����
 �� ��	�
�� ��� 	
�
 � �������� �	��� 	� ��
��
������
 ���	� �� D2 �
����� "

(x +
xHD

D2

100
(100 − x)) �H 	�� ��
��
������
� ��
� ��� ������
������ !	 ��B� �	��� ��

��	��	�� xHD
D2

���� ��� �� ���
����
� �� ������	� ��

� �
� ������ �����
� ���
	
�����
��

#� ������ �
����	� �
����� y = ax + b� #� 
����		� ������ ����� ���
����
� ��
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��� �� ������������

���� 2�2 ? ��������	 �� 
����� �� �� D2 	� �
����
� �	 
� �
��	������
� ���
 ��
HD %�	
 �
�������
 �
��	
�
��	�� � �� 0 �
��	������ �� ����	 ��	��	 � �� HD
���&�

������	� �
����� " y = a′(x +
xHD

H2

100
(100 − x))� 3
 ���	���
� 	�� ���' �������
� �
 � "

a′ = a + b
100

)
����		� ��
�� �� 	� ������*

xHD
D2

= b
a+ b

100

)��
��
������
 �
 D2 �� HD ���������	*

+
 ���� �	��� �������� 	�� ��

��� �������� �
 ��
�
� ������ �� xHD
D2

� #� �����
2�2 �������
�� 	�� ��

��� ���
� �� ����� ���������
 �� 	� ��		����
 �
����	� �� HD
��� 	� D2� +
 ��
����� ��� 	� ������ �������� ����� ���
 ��� 	
�����
�� $�		���� ��� 	�
������ ��� 
��� �����
� ����
�� �� 
��� ����
� ������� ��� 	� ����� �� HD ����

#� ���
���� ��� �
����� �'������
� 	� �/�� ���� 	� ������ �
 ��
��
������
 ��
	� ���
���� �� H2 ��
� 	� &E�

#� ���	��� 2�1 �����
� ��������	� 	
�
����	� ��� ������� �%������� ���� 	�� ����
�
��		�
� �� �� ���������	 H2� HD �� D2 ��� 
��� ���
� ���	�����

��� ������ �� �� ����������
�� �� �����
�� �� ���
�

��
���� ��� �
�����

;��� �����
����
� ��� 	
�������� 	� �	�� �	������� �� ����	��� �� ������ ���
��
��
������
� �
�
 �� � $
��� 	� ������� 	� �	�� ��
���	� �� ������	���
� 	� �	��
�����
���
� ���	�����



2�8� (����� �� 	� ��
��
������
 �
 ��
����
 �� 	
���	����� ��� ���
��' 12

���� 2�0 ? ��������	 �� 
����� �� �� HD 	� �
����
� �	 �� �
��	������
� �	 D2

���
 �	 ������	 %0 �
��	�����&�

3���
��		�
 .H2 .HD .D2 ���	����� �� ��� ���
����	
HD 6�>1. ,1�11. 6�60. 2, 11 10−9

H2 ,,�,2. 5 10−4. < 10−7 5, 46 10−9

D2 6�6. >�-. ,-�6. 6, 6 10−10

���� 2�1 ? -
��	������
� 	� �
�����	
 �
�
��+�	
 �	
 �����	��
 ���������
�
 �	 ��/
�
��	����� %H2�HD 	� D2& �
�� �
�
 ��
�


�
 � ��123 ��4�
��� 4� �	���+�	 ���
+�	 �	
 ��������	
 �	
 ���
 

�� �������� ���
 �����	
 +�	 �� �
�����	 	
� �����	�
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��� �� ������������

;��� �������
� �
����� ��
 ���
���� ��
���	 ���
� �
�
 �������� 	�� ���
����� ��
	�� �
��
��
��
��� E�
� 	� ���������� �����
� 
��� ��������
� �
� �������� �	����

����� ����' ������� � 
���� ����	�������� " 	� ������ ��� ����	�� ��
��
������
��

����� �����
� � � $������������ 
"��� ���	��� 
"����������

#�� ��%���
�� ���
����� �
�
��� ��' ����� �� �������� �� ��������
� 
�����		��
��
� ���� �
 ��	�
��� �� 
 �	���
�� ��� 	
�������
 �����
�� "

Hi =
n∑

j=1

aijxj

����
Hi " 	� ������� �� ��� ������ ���� 	� ����� Mi �������� �� �������	 )����� ��

��
�*
aij " 	� ������� �� ��� �� ����� Mi ���� 	� ������� : ���
xj " 	� ��
��
������
 �� ��
������
� : ��
� 	� ��	�
���
E�
� 	� ��� ��� 
��� �
�������� �	 � � ����� �������� ): J 6�5 �� 8 ���� H2� HD ��

D2* �� 
��� ��
��������
� ������ ��� �� ����� )��
� � J 6�5�8 �� 9 ���� 	�� ������
�		�
� �� 6 � 9 ���*� #
�������
 �������
�� ���� �
������ ���� ����� ��������	 "


H1

H2

H3

H4


 =




a11 a12 a13

a21 a22 a23

a31 a32 a33

a41 a42 a43


 .


 x1

x2

x3




�� �
���� " H = A.X
3
 �� ��� 
��� ��
���
�� x1 �������
�� 	� ��
��
������
 �� H2� x2 ��		� �� HD

�� x3 ��		� �� D2�
!	 ��B� �	��� �
�
������ 	� ������� � ���� ������� 	�� ��
��
������
� ������������
E�
� 	� ��� �H 	� ���
���
� �� �������
����
 ��� 
��	�����	� )�
��� � ���� 	������

	
�
 ������		� � ��� �������
� �
��������� � 10−6 ����* �
 ���� �������� 	� ������� �
�
 
� ��
�
� ������ ��� �� 	� ������
�����
 "

A =




a11 a12 0
a21 a22 a23

0 a32 0
0 0 a43




#� ��	����
 �� ����	��� ��� �	��� ��������� "


x1 = H2−x2a22−x3a23

a21

x2 = H3

a32

x3 = H4

a43

)2�8*



2�8� (����� �� 	� ��
��
������
 �
 ��
����
 �� 	
���	����� ��� ���
��' 11

E�
� 	� ��� �H 	� ���
���
� �� �������
����
 

��� ��� 
��	�����	�� ���� 	�� �	���
��
�� 	���� ������� �� �������

���
� ��
� ���������	�� �
�
������� �
��� ��'� 3
�������
�	��� ������ 	�� �����
����
� �� ���	��� 	��� �������
�� ��	����� ��� �
 ����	��� ���
�� ����	� �
 �������� �
�'������	�� $���
��
�� �	 ��� ������	� �� ��
����
�� 	
������	�
�
 �
�������
� ���' ��� �������	���� "

? A� 	�� ��
��
������
� �� ���� 	�� �	���
�� �� ��	�
�� ��
� �� �/�� ����� ��
���
���� )�
��� 6> �� ,>.*� �
 ���� �������� 	� �������
 �� ������	 ���� �

�����
� ���� ������ ����� ��� ���
��' ��������	��� +� ����� �
 	
� �� ��
���������� 2�5�5� �
 ������� �� 10−6mbar� 	� ���
���
� �� �������
����
 ���

��	�����	�� $� ��� ������ ��
� �
���	���� 	�� �������
� 2�8 ����� ��	����
 ��
����	����

? !
�������
�� �� 	
�
 �
�
������� � ���
����� 	�� ��������� �
�
 �� ��

�� #��
���
��' ������� ��� �	���
�� ��	��� ��
� �	��� ���� ����	��� K������ 	� �����
���
 ���� ���� �������7��� 	� ���
���
� �� �������
����
 ��� ��	���� ��� 	��
�����
�� ��
����� ���� ����	�� �����
� ����
�� �
����	��� ����� �
����	��	���
3
 ����
���� +
 ���� ����� 	� �������� �����
�� " � 
���� �������
 �� ������	
)2 10−6 ����*� 	�� ���
��' ����� �� 	� �������
����
 ��� ������
�� �� ����
���� ���
����	 )	� HD* ��
� ���� ����	��� �� 	
����� �� 10−4 �� ��� ���
����	
)�� ���������� 2�5�5*� +
 �
����
� ��
� � �� ��� 	� ��
��������
 ��� ��������
����
������ )	� H2 �� 	� D2* ���� �
���� �	�� ������ )�
������� � 10−6*� $
��� 	�
��� �
 �� ��� 
��� ��
���
� ������� 
�� ��
��
������
� �
 H2 �� �
 D2 ��
�
���������
� �
��������� �� ������
��

+
 ����	��� ��
� 	� ����	��� �
 ��
������
� ��� ���	 	� HD ��������� �� ����

���
� �� �������
����
� #� ������� � �
����� �	��� "

A =




a11 a12 0
a21 a22 a23

0 a32 0
0 a42 a43




�H 	
�
 � ���	���
� ��:���� 	� �������
�� a42 ��� ��������
� �� ��� ��
��� ���
	� &E ��� 	� ����� 9 ��� �������
����
 " HD + HD+ → H2D

+ + D.*�

#� ��	����
 ��� �	��� "




x1 = H2−x2a22−x3a23

a21

x2 = H3

a32

x3 = H4−x2a42

a43

E
�
 ���
� �� ��� 
�������� �
 ���	���
� 	�� ����	���� ��� ����������� 2�5�6 ��
2�5�5� �
 � 	� ������� "



1- $������� 2� 3��	�

��� �� ������������

A =




2, 95 10−11 9, 07 10−12 0
5, 46 10−9 6, 33 10−12 2, 64 10−12

0 2, 11 10−9 0
0 2, 95 10−13 6, 6 10−10




E�
� 	
�
����	�� ����� ����
���� ��� �
�������
�� �� 	
�
 ���� ������� ��� �	��
��
�� ��
� 	� ��
��
������
 

��� ��� 
�����������
� ����	� ��� ������� �� �������
����
�
� = �		� �
�	�� 
������
� ���������
� ������ 	�� ���������
� �� ���
 �
���
���� �� ����� �� �� ������
�����
� F��������� �		� ���	��� ���������
� �
� ��	���
����	�� �� 	
���	����� ��� ���
��'� +� �
 ���� ��� 	� ���
 �� ������������ �����
��
���	���
� �
�
� ����� � 	
����� ����� 	� ��
��� 	� ����� 2�-� !	 ��� ��
� 
�����
����� ���
� ������ ������ �� ����	����� 	� ������� ���� �
 ��	�
�� ���	�
 ��
� �

��

�7� ����������
� 	� ����
�� �� �
����
�� ��
�� �
 ������� ���������� #
�������

�����
� " 


A1 0 0 0
0 A2 0 0
0 0 A3 0
0 0 0 A4


 .




H1

H2

H3

H4


 =




a11 a12 a13

a21 a22 a23

a31 a32 a33

a41 a42 a43


 .




x1

x2

x3




+H 	�� Ai ��
� 	�� �������� �� ���������
� " Ai = hei

hi

���� "
hei J ���	����� �� ��	�
�� ���	�
 	��� �� 	
���	�

����
hi J ���	����� �� �/�� ��	�
�� ���	�
 :���� ���
� 	� �������
+
 �
����
� � �� ��� 	�� �������� Ai ����
� ����' �
��� ��'�
$� �����	�

��� ������������ �	������ �������
� 	� �������	� �� ������ 	��� ��

����� ��� ��
��
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� �
�
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�� ��
� 	� ��� �H 	
�
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� �������� ��%���
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�����
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���
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+
 � �� ��� 	� ���
 �	���	 �� ������� ������� ����� ����	��� ��
� 	� ������
�H �	 ���� ������ �� �	�� �� 6>. �� ����� �
�
� :���
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��
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#� ��
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���� 	��� 
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�� H2 ��� HD 3 4+5
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 �� D2 	� �	 
	��� �� HD 	� ���
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��
	��������
�	 D2 ���� �	 HD� �����	��� �	���	� ��� ��� 	�	
���	� �� 
���� ����	 ���	 �	���
������	� !	 "���#���	 	�� $ ������
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��
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0 	� �� HD
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���
���� ���	���	 ���� ��	 ������	 	� 
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	�������� �������	 �� ��	
����4��	 /
���
��"�	 �	� �����	�
	� �	 "���� 	���	 �	� ����	� 1 	� 
0 	� �� ��"�	 	� ��������� 	�� ��
�	��	 $ �����"��	� ���� �	 ��4� ���+�	� 
��
	���������3 ���	 ��	 �	 ������� �	 D2 ���
HD 	�� �������	 	�� ��	 +���	 �����*��������
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�� ,��
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�� ���������� RH2
HD 
� ����
�� �
�� �� ��
���� ���
��� 	� 
����
���	� 	�

��� 	� ����� 4 !�
�����
�	��� �� H2" ��� 
� ����� � !�
�����
�	��� �� HD"� 7�
���
�,���� 
�� ��
���� ������,��� ��
����� �����	������ 
� � ����
����� &

xH2
HD =

(RH2
HD − 3 10−3)

2, 6
!��8"

6� ,�� ���� �� 
��� & 
� �
���������
� �� H2 	� ��
���� ��� ���
� �� ����
�� 	��
���� H2 ��� HD �
��� 
� �
���� ���
� 	� 
� �����������
� 	� HD �� 	����� ��� 
�
�
�0������ 	� ��
� ����
��

#� � 	� �=�� &

xD2
HD =

(RD2
HD − 1, 4 10−4)

0, 313
!���"

#� 
 ����� ����� 	���������� 
�� �
���������
�� ���� ����
� ��� ����� �1�,�� ��(
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�� ��� 
�� 
� 	�
��� 	����

������

>�� ��
���
�� ��8 �� ��� '���� ���
����� 
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����� 	� ����� �
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 -+-� ± .+.� -+.� ± .+.�
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:;6 .+4� ± .+.4 .+45 ± .+.4
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���� ��������� �+(*# ��� ���
	� 
���� 
����� ��� ������ ���
�� �����
����	�� �� 	� ,������ �� 
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	��� ���� ��� !���� �� ���
����� �������� ��� 	� ����� �	�
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�� ��� ��� 
������ �� ��$�� ��� ������ 8<� �� 	�$�������� ��
0�4� ��������� 	
���� �

�������� ������# �� ��	������� ��� (�����=���� �!�
 ���
����
���� ���	�
����� > 	��!������ �� ����
���� �� 	������ 
������ ��� ������� ���
����
���� �� ������� ����	�� ������ ���� 	� �����$�	��� �� !����� ���������
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����� ��� ���
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����� �� �����
����������� ���
���	�� ��� 
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�������� ��� 	���

�����6�� 
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� �	�
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� ��������� �� ���� 
��������� ������'�� 
�

� 	�� ����3� �� 	�� �	�����

4 	�������� ���	 	��	�
���� ������ ����� ����
�� > �� ���	� �	��� �� ���
����� ����

	���!��� . 	����� ���������� '��	 ����� �������
��� �!��� '���� 9�9#� �� �"�� ��
���
������ ����� ����		� ���	�
��� ��������� ��������
��� ���	�������� �*&0 ����
�*��� &��	����
 0
���������# ��� ��
��� ������ �� ��� %����� �� 
���6�� �� �	�� ��
�	�� ������������ �� ���
���� �� � ���
�� �� ��
���		�� �������� �������
������ ��� 	�
����
���� ������� �� ��
	��� . � ����� �����
�	�� ���
� 	�� ����	���� 	�� �	�� 
������
�	 � ��� ���$	� ��� 	�� ����3� ������� ≈ ?<@ �� 	��
��	���� �	� ����� ���!����� ���
�	����# �� ≈ A<@ �� ���� �� ��
	��� �	� ����� ����� ������� ����� 	� 
�
��� ��$��
��	 �� 	� ���� ��� �	����# > �	�� ���
�'���
���� 	�� ������$������ �� �
��	���� �� ��
���� ��� ��!��� �� ����3� � ��� ��� ���������� ��� �6�	�� �� ��

� �����
����	��
�B%��3������# !���'���� ��
���
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	��� 
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������������ �-� ��� ���	�
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��� ����� 	�����
$	� ��� ��� ������� �� ���	� �	��� �� ���� �� ���
����� ���
��
��
	���!��� �� ���
����
	���!���# �� 	����� ���������� '��	� 
�� ���
����� ��
	���!��

�.� ������  �
	���� �� ��
�- / up #�$� down #�$� strange #�$� charm #�$� bottom #�$ �� top #�$ 0
�� ������� ��� ��������������� ����� �� ��
�-� � �� �1
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���� ��
	���!� 	� �	�� �	�
������� ��� ���� ���� ���
�� 	� ��
�	� ��������
�	������� �eN → e′N ′#� 	� �����
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�	� ����	�
�������� �� �	�� ��
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�$	� ��� �����
�	���� 	� �����
���� ���� ������� 
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�*������� ��
���� F�����		�� ��� �*F�0� ���� �DeepV irtualComptonScattering�#
��� 	� ��
	��� �!��� '���� eN → e′Nγ#� 4� !� �� 	� �������� �������
������ ��� 	���
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��� ���
�6��� ������� �� *F�0 ��� 	� ������ ��� ��� ��$	���� 	������ �����6���
����� ��
�	����
���� ��� 	�� 
�		�$�������� G(C:(0 �� ��40� ��� ������� ����
��
��� ��6� ����� �� �
���
���� �� �	������� ������

�� ������
������ ������ ����
�
���		�
��� �� 
����� &	� ��!������ �������� ���
� A �� H ���� ��� ������ ��
�����
�� ������� ��� ����������� �� �� ���
�����#� ���$%�
� �� 
���� ������ �� 	� ��6�� ���
��6� ���
�� �� *F�0 . �	 ������ �� 	����	"�� ���	�������� ����� ���
���� 	��6��
���
��������� �� 
�
�	�
������� ��� 	��� ����

��� ��� 	� ����� ∆V CS� ��� ��� ���
���
���� �- 	� ������ � ��� ��
��� �� 
���� �� ���
����� �'���� eN → e′∆γ#� ���
������� ���� 	� *F�0 ����� ��%� ��6� ������ 
�		�� �� ∆V CS 	� ���� �������� �	���
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����� 	������ � ��"����� �� 
� ���
������ 
�

� ���� 	� ������ ��������� ���� 	�

������� ���!���� ��� ��;��
��� 	���� ���� ������ ���
�6�� ��!���������� ���� �����

��� �� ∆V CS $���'
���� ��������
��� ��� ���
����� ������

�� ������
������
� !���� ������� ���� 	� *F�0 > ���� 
����
� 	� ����������� �� 	� ���
����� ��� �������
������ 
���� 	�
������

*����� 9EE8� ��� ���
������� ��������� ���'�� ��� ���
����� ��
	����� ����� ��!��
	����� � ���!��� 	� ���
�	��
� ������������ 	�� ������$������ �� ������� ������	�����
�I)*�#�

*��� 	� ���������� ��� ����� ���� �		��� �����		�� 	� !�
�$�	����� 	� 
���
�������
	� ���
�	��
� ��������� ��� ��

����!�
���� 	������ � �� *&0� *F�0 �� ∆V CS� ,���
������������ ����� 	�� ������� �� ���
����� �� ����
���� �� ��
	��� �� �� *�����$������
�� )������ I�����	����� ��I)*�� ���� �I�����	�J�� )����� *�����$�������#� *��� 	�

������� ���
���K9#� ���� ������������ ������� 	��

�	������� �(B4/ ����� �������
���� (	�
���� B��
 4

�	������ /�
�	��"�# �� 	� G�		 B �� L������� 	�$������"� �-
����� �����	�� 	���������
� ���� ���� �!��� ���	"�� 	�� �������� *��� 	� 
�������
���
���KA#� ���� ��
������ 	����	"�� ��� ������� ��� ���� �!��� ���
���� �� !��
��������� 	� ∆V CS ��� '��	�
���� ���� ��������� �� ����� ��� 
��
	������ �� �����
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�� '���� 9�9 ���������� ��� �������� ��������
��� ���	������� ���� �	�
���� ���
	� ������� �- .

M k ��� 	� ��������
��	���� �� 	��	�
���� ��
������
M E ��� 	�������� �� 	��	�
���� ��
������
M k′ ��� 	� ��������
��	���� �� 	��	�
���� �������
M E ′� θ ���� 	�������� �� 	����	� �� 	��	�
���� �������
M q = k− k′� ν = E −E ′ ���� 	� ��������
��	���� �� 	�������� �� ������ !�����	�
M p ��� 	� ��������
��	���� �� ��
	����
�� ���
���� ��� ���� ���
	���!��� 
�� ���	 	��	�
���� ������ ��� ����
��� 	����� ���

�������� '��	 �����	� N# ����� ��� �����
���� 0� �� 
������ 	�� ��������
��	�����
��� �����
�	�� ��
������� �3 �� �#� �	 ��" � ��� ���� !����$	�� ������������� �
���
���� ����
��� �� 
�$	� ��	������� 	� ���
����� ��� �"
������� �� ���
���� �� 	����	�
�J�
����	 �� 	��	�
���� ���� 	� 	�$��������#� )��� ��
���� 	� ���
����� �� ���� 
������
	�������� �� 	����	� �� 	��	�
���� ������ ���� 	� 	�$��������� 
��� �	 ��� �	�� 
�

���
������������ 	�� ��������� ��!�������� �� ������J .

Q2 = −q2 labo
= 4EE ′ sin2(

θ

2
) �9�9#
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xB =
−q2

2pq
labo
=

Q2

2Mpν
�9�A#

�!�
 Mp 	� 
���� �� ������� �� ����������	 �� 	�$�������� ��� 	� ����������	 �- 	�
������ ��� �� ������ �� �����'
����� ��"����� �� 
�� !����$	��� ����� ��� 	� 
���!�����
�� 	��� 
���� ���� ��
���� 	� �"��6
� ��!�������� 
	���� ���� 	� ���
����� ��
�����
���� EA�

*�'������� ����� 	�� !����$	�� � �� O� ��� ���� 	�������� �� 	� ���
���� ���� 	�

����� �� 
���� �� �"��6
�� ��� ���� ���	������� ������

��� ��� 	� ����� .

W 2 = s = (p + q)2 labo
= M2

p + 2Mpν − Q2 �9�H#

��� ��
����� �� !�	���� ��� !����$	�� 
���
������� ���� .

W 2 ≥ M2
p �9�P#

0 ≤ xB ≤ 1 �9�?#

�
����� 
����


�� ��
���� �;
�
� �� 	� ���
���� ep → e′X ���� ���
���� .

d2σ

dQ2dxB
∼ LµνW

µν �9�Q#

�- Lµν ��� 	� ������� 	��������� ��
��!��� 	� �������� �� 	��	�
���� �� 	��
������ ��
������ !�����	� &	 ��� ���
��
��� 
�	
�	�$	� ��� +(*� D� ���� 	�����
�
��� �����
	��������
����� �� 	��
����� ���� ���	 ������� ������� 	� 
�������� �� 
���	���
�	�
���
��������� ��� ���$	� ��� ���� 
� 
��� Lµν !��� .

Lµν =
1

2

∑
s′

jµjν avec jµ = ū(k′, s′)γµu(k, s) �9�8#

=
1

2
Tr [(k′ + m)γµ(k + m)γν ]

= 2[kµk′
ν + kνk

′
µ − (kk′ − m2)gµν ]

�- gµν ��� 	� ������� 
�������� γµ ���� 	�� 
����
�� P�P �� *���
� u(k, s) ��� 	� �������
�� ��
	���� �� ū(k, s) = u†γ0� Wµν ��� 	� ������� ���������� . �	 ��
��� 	�������
����
�� ������ !�����	 �!�
 	� ������� ����� 	�� ��� 
������� 	������
����� ��� 
����� ��
	� ����
���� �� �������

Wµν =
∑
X

< X|Jµ(0)|p, s >∗< X|Jν(0)|p, s > �9�7#

δ(
∑
X

pX − p − k + k′)
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�- Jµ ��� 	���������� 	�
�	 ���
������ �� ������ �� 	����� p �� ������ 
�$	� �� ����
s � 	����� X� D� ��
��� 	� ������� ���������� �� 	� ��R�� 	� �	�� ������	� �����$	�
���� �
���� �� ������� �� ���� A �!�
 . gµν � εµναβ � pµ� qµ� (� ���	������ 	� 
�!�����
�
�� ������J� 	���!�����
� �� %���� �� 	��	�
����"��
���� �� 	���!�����
� ��� ������� 	�
������� ���������� ���� ���
���� �� ���
���� �� ���� ���
����� �� ����
���� ��
������
W1 �� W2� �
�	����� ��!������� �� ������J .

W µν = (gµν +
qµqν

q2
)W1(xB, Q2) �9�E#

+(pµ − pq

q2
qµ)(pν − pq

q2
qν)W2(xB, Q2)

W1 �� W2 ���� ���� ���
����� �� ����
���� ��� ����
�������� 	� ����
���� ������� ��
������� (		�� ��������� ��� ���� !����$	�� ������������� �� 	� ���
���� . Q2 �� xB�
D� ���	��� ����� 
����

��� F1 �� F2� ��� ���� ���� ��
������ .

F1 = W1 �9�9<#

F2 = pqW2

�� ��
���� �;
�
� ���
��� �	��� .

d2σ

dQ2dxB
=

4πα2

Q4
[F1(xB, Q2)y2 +

F2(xB , Q2)

x
(1 − y − Mxy

2E
)] �9�99#

avec y =
pq

pk
labo
=

ν

E

��� ��������
�� �� �������� ��, 
����� �� 0�4� �6� 9EQ8� ��� ��!�	� ���� ����
Q2 ��������� � 9 I�F2� 	�� ���
����� �� ����
���� /1 �� /2 �� ����������� �� ����
��� �� Q2 � xB '��� ,��� �		��� !��� ��� 
���� ��!�����
� ���
��		� ��� �����������
���� 	� 
��6	� ��� ������� 
�

� 	� ��������� �� 	� ������
� �� �����
�����������
���
���	� ���� 	� ��
	����

�
 �����
 �
� ��
����

F1 �� F2 ��
��!��� 	� ����
���� ������� �� ��
	���� Q2 ��� ��� ��� 
���
�����������
�� 	� ����� �	�
���
��������� . Q2 ���������� 	� !�����	��� �� ������ !�����	 �Q ∼
1/λ)� �- λ �"
$�	��� 	� 	������� ������ �� ������ !�����	 . ������ � ����� Q2� 	� �����
�	�
���
��������� �� ������ ��� 	� ����
���� �� ��
	���� ������ ���� ����� Q2� 	�
����� !��� 	������������ �� ��
	���� 0� 	�� ���
����� �� ����
���� ���!�	���� ��� ��
���
���� �� Q2� � ������ ���� 
������ Q2� 
�	� �����'� ���� ���		� ��� ���� 	� ����	�����
�� 	� ������ 	� ��
	��� ������S� ��������� � 	��� 
 
� �� ��� 	��	�
���� ������ ��� ��
��� 
����������� ���
���	� � 	���������� �� ��
	��� . 	� 
��6	� ��� ������� ���������



9�9� �� ����� �	�
���
��������� EH

�	��� 	����� ��� 	� ���
���� �� ���
��� ����� ��� ��� �������� �	������� �� ������
!�����	 ��� �� �����
���������� ���
���	 �� 	�$�� �� ��
	��� . 	� ������� �� ��
����
�;
�
� ���� �	��� �� ����
���� 
�

� .

d2σ

dQ2dxB
=

∑
partons a

∫ 1

0
dξ

[
d2σea

dQ2dxB
(ξ)

]
fa/N (ξ) �9�9A#

�- fa/N (ξ) ��� 	� ���$�$�	��� ���� ��� 	� ������ a �
����� 	� ���
���� ���
��	����
ξ �� ��
	��� , �� σea ��� 	� ��
���� �;
�
� �� 	� ���
���� �	������� �� ��!���
���������� ea → ea� 0� �� ������� ��� 	� �������� �� ���� ����� 	� ������ !�����	 ��
�� ������ �� ���� 9TA �� ��
	���� �� ���� ����!�� 	� ������� ���������� ����
�� ��
������ a .

W ea
µν = (gµν +

qµqν

q2
)δ(1 − x

ξ
)
e2

a

2

+(ξpµ − pq

q2
qµ)(ξpν − pq

q2
qν)e2

aδ(1 − x

ξ
) �9�9H#

�- ea ��� 	� 
����� �� ������ a� 4��6� ����������� ��� ξ� �� �� ���	����� 	�� ���
��
������ ������������ �� �$����� 	����������� ��� ���
����� �� ����
���� �� ���
���� ���
������$������ �� ������� .

F1(x) =
1

2

∑
a

e2
afa/N (x) �9�9P#

F2(x) =
∑
a

e2
axfa/N (x) �9�9?#

��� ���
����� δ �� 	��������� 9�9H �
������ ��� 	� ���
���� ���
��	���� ξ �� ������
���� ���	� � 	� !����$	� xB ��	��� �� ������ !�����	 . 	� ������ ���� �!��� 	� !�	��� xB

����  ��� �$���$� ��� �� ����3 �� ���
���� ���
��	���� ξ� ��� ���
����� �� ����
����
�� ��������� ��� �� Q2 
�� ��� ���
���� �	������� ��		� ��� ea → ea �� ������ ���
����� !����$	�� � ������� �� ����
��� ������� �� 
��6	� ��� ������� ���
�� �����
�����	����� 	���!�����
� ���
��		� �$���!��� *� �	��� �� � .

F2(x) = 2xF1(x) �9�9Q#

����� 	� ��	����� �� ��		���I����� (		� ��U6�� 	� ������ ���
������� ��� �������� (		�
��� !���'�� ������
����	�
���� ���
��� ��� ������� ��� 
�
����$	� �!�
 
�		�� ���
����3� �� +�*� *� �	��� �� ��������� ��� x F1(x)� 	� ���$�$�	��� ����� ����3 �����
	� ���
���� ���
��	���� x �� ��
	���� �� ���� �!��� �

6� � 	� ���
���� ���
��	���� ��
��
	��� ������ ��� 	�� ����3�� ��� ��������
�� �� �������� ���	������� ��� ��	������

������� ����� ��� ���	�
��� ?<@ �� 	��
��	���� �� ������ ���� ������ ��� 	��
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����3� . 	�� ?<@ �������� ���� �	��� �����$��� � ��� �����
�	�� �� 
����� ��		� ����
��������������� ��� �!�
 	� ����� �	�
���
���������# �� ��� ���� ������'��� ��� �	����
�� +�*�

���������������� �� 	���!�����
� ���
��		� �� Q2� �� ���
��� ������ ���� 	� 
��6	�
��� ������� ����� !�	�$	� ��� ���� 	� ����
� �� B%��3��� D� ��'��� 	� ����
� ��
B%��3�� 
�

� 	� ����
� ���� 	����	 	�� ������� ���� ��"
��������
��� 	�$��� .
Q2, ν → ∞� xB = Q2/2pq '��� Pp → ∞� *��� 
� ����
�� xB ���������� 	� ���
����
���
��	���� �� ������ ������ ��� 	� ����3 ��� ��������� �!�
 	� ������� �� 
��6	�
��� ������� ��� $��� ��� ��� ��
���������� ����� .

M �� ���� ������$����� ��
��� ����6��
��� ��� �+�*� ��� ��� �� ���
����� �����
�����# . �	 ���������� 	�������
���� ����� 	� ������ !�����	 �� �� ��� ����3� ��
��
	��� ���
��	���� xBPp�

M �� �� ���� ��� ������$����� ��� 
�	
�	�$	� ���	"�����
��� ��� +�* �� �����

������ ��� 	�� ���
����� �� ����
����� ��� ��� �� ���
����� �
��� �����# . �	
��
��� 	� ����
���� ������� ��� ������$���!� �� ��
	����

*�� !��	������ �� 	���!�����
� ���
��		� �� Q2 ������������ � ����� Q2� D� ������
��6�� 
�� ����� 
�

� ��� ����
����� ���� ����� Q2 	� ���$�$�	��� ���� 	��	�
����
�� ������� ��� �� ������ �� $���� �
��	���� ���
����� *��� 
� 
��� ��� ���
�������
�	�� 
�
�	6�� �� +�* ��� ��
������� �- 	�������
���� ����� 	�� ����3� �� 	�� �	����
��� ����� �� 
�
���� �� ��������
� �� Q2 ��� ���
����� �� ����
���� ��� ��
���� ���
	�� ��������� *I�4) �*�3����J��� I��$�!� ������!� 4	����		� �� )�����#�

��������� �
 ��
	��	

 ����
���
�

4!�
 �� ����
��� �� ��� 
�$	� ��	������� �� ���� ������S��� ���� 	� ��
���� �;
�
�
�� ���!���� ���
��� �����"
��������� ��� 	��� ���� �������� ������
����	�
��� ��

������� 	� �������
� ����� 	�� ��
����� �;
�
�� �- 	� ��	��������� �� 	��	�
���� ���
�����
��!�
��� ����		6	� �� ���������		6	� � 
�		� �� 	� 
�$	�� *��� ���!�		�� ���
�����
�� ����
���� g1(xB, Q2) �� g2(xB, Q2) ������������ �	��� ��� ���� ��	���� � 	� ����
����
�� ���� �� ������� �� 
��6	� ��� �������� ���� 	� ����
� �� B%��3�� ������ ��� .

g1(x) =
∑
a

ea

2
∆fa/N (x) �9�98#

g2(x) = 0 �9�97#

�- ∆fa/N (x) ��� 	� �������
� ����� 	�� ���$�$�	���� �� ����!�� �� ������ � �!�

��� �
��	���� x ���� 	� ���� ���� �����
��!�
��� ����		6	� �� ���������		6	� �� ����
�� ������� �� ���
���� �� ����
���� ��	������ g1(x) ������� 	������
����� ��� 	�
������$����� �� ���� �� ������ ��� ��� ����3��



9�9� �� ����� �	�
���
��������� E?

����
� �
 ����


��� 
�
���� ��� ���
����� �� ����
���� ���
������ �� 
�
����� 	�� �����
�����
���������� ��� 
������ ������
����	��� �� ���� ��� ������������ ��� � �� 
�����
nieme 
�
��� �� 	� ���
���� F (x) ���
��!��� .

Γn =
∫ 1

0
dx xn−1F (x) �9�9E#

*�� �����
����� $����� ��� 	� �"
����� ��������� �� �� 
��	��� �� 0=�H# 
6����
� 	� �6�	� �� ��

� �� B%��3��� ��� ��	�� 	� ���
���� �� ����
���� ��	������ g1(x) ��
������� �� �� ������ ��� 
��������� �� 
���	��� ����	 gA �� �� 
���	��� !�
���� gV

�� ��
	��� .

∫ 1

0
dx(gp

1(x) − gn
1 (x)) =

1

6

∣∣∣∣∣gA

gV

∣∣∣∣∣ (1 + correction QCD) �9�A<#

∼ 0.21(1 + correction QCD)

�- gA �� gV ���� �����
����� ��� 	� �������������� ���$	� β �� �������� ����� �6�	�
�� ��

� � ��� !���'�� ������
����	�
��� �� �(C, VH<W �� � 0�4� VH9W �!�
 ���
���
����� �� 7@� ����� ��� �
�������� !���'
����� ����� �����
���� �� +�*� �������

�		��
� ��� ��
�	�
��� $���� ��� 	� ����
��� ����!�����
� ����������

D� ���� ����� 
������ ��� 	� ���
��� 
�
��� �� g1(x) ��� ��	�� � ∆Σ� 	� ���
����
�� ���� ����	 �� ��
	��� ���!����� �� ���� �������6��� ��� ����3�� ��� 
������ ���
g1(x) ��� 
����� ���� �� ����� ���	� A<�A?@ �� ���� �� ������ ���!����� �� ����
�������6��� ��� ����3�� �� ����	���� ���������� � �����S�� ��� ����� ����������
�� ���
	� ����������� �� ���� �� ������ ���
� ��� �����
������������

D� ���� �����
�� 	� ���� �� ��
	��� 
�

� 	� ��

� ��� 
�����$������ �� ���
�����
����������� .

1

2
= 1

2
∆Σ + ∆G + Lq

Z �9�A9#

�- ∆G ��� 	� 
�����$����� ����	� �� ���� ���!����� ��� �	���� �� Lq
Z 	� 
�����$�����

�� 
�
��� ����	���� ��$���	 ��� ����3� �� ���� �� ��
	���� *�� ��������
�� ����

����� ��� 	�� 
�		�$�������� G��
�� �� 	�$�������� *(02 �Ee = 27 I�F# �� ��
�
���� �� �(C, �Eµ = 200 I�F# ���� 	� 
����� �� ∆G � ���!��� 	� �����
���� ��
�����
�	�� �
���
�����

)�� 
������ 	� ���	 
�"�� �������$	� �
���		�
��� ���� 
������ Lq
Z ��� �� ������

��� ��� �6�	� �� ��

� �
�	������ 	�� *�����$������ �� )������ I�����	����� �I)*�#
��� ���� �		��� 
��������� �����������



�� ������	
 �� 
���������� �������
�

����� �� ���	 �
 ��� 
��
����
���� 
� ���
��� ������������

���������	
 �
� 
�������� 
���	���
�

�� ���	
 ��� 	
�	��
��
 �� �������� ���� ��
��	�� ��	 �
 �	���� ��
� �	��������
���� ������ � !�"#� $�	 	����	� �� ��� ����������
% �
 ����
��
� ��	��&�
� ����
���	�����
� ���	 ���	�	
 �� 	������� 
'������
� (� ��	������
	% �� ���	����� t% �
 ��		�
�� �	���)
	� ���*������� �� ������ ��	��
� + �� ��	�����
 �	�����
� ,� ����	��% ���� �

��� �
 �� �	�������� �
 ������ -

t = (p − p′)2 = (pγ − q)2 �����#

�. p% p′% q 
� pγ ���� �
� ����	�/�*�������� �� �	���� �
 �� ��&�
% �� �	���� �
 	
���%
�� ������ ��	��
� 
� �� ������ ���� �	������ 0� ���	����� ����� Φ% ������
 
��	
 �


γ* γ

p

e

e’

p’
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���� ���������� ���� 
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�	 + Eµ+ / 022 1
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�
��
 ���*��	�
 ���� �
� ���
�����
� 
� xB% Q2 
� t ��	�
	��� �
 )�	�
� ����	����
�
��	 �
� *��F�
� �
 @$ ��

��� �� ∆V CS

�
 )�	*����*
 �
� @$ � � ��� �	����
��
*
�� ���
����� ���	 �
� 	�������� 
'���/
���
� ��	 �
 �������% ���� ������ ������� ��**
 ���� ������ ����� ,� � ��� 	��
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��
��
��� + �
� ����� ����� &�	������
� ���� ����	��' 
�% 
� ��	������
	% �� ��� �. �

������� 
�� 
'���� ���� ������ ���� 
� �� ∆% �� ���� ��*��
 
� �� ���� �����
 �
� 	�/
������
� �� �������� 0� ��	�
 ���	� �
 @$ � �
 <�	��������= M/∆% ��� ���� � �	��	�
����	
��
� �
� @$ � <������	��= �� ������� ����	 ���	
���ep → e′X#�
�
� @$ � M/∆ �����
��
�� �
 *P*
 ���
 ����)�	*����� ��
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� @$ � �� ��/

�����% ��
��/+/��	
 �
� ����	�&������ 
� �*������� ������������
 
� �� �������� �	���/
�
	�
 �
� ���	7�% �
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� ����% 
�����% *��� �
��
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 ∆� $���
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��% ��������� ������ ����
 �	�������� M/∆% �� )��� ��	�
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	)�	
��
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��	

�
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 ����	�&������ ���� �
 ������� 
� �
��
� ���� �
 ∆� �
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�
	**
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 ��*�	
��	
 �� �	�������� M/∆ �� ���
�� ��	������
�
$�����
 �� ��	����	
 
� ���� �
 �� �	�������� M/∆ 
�� ���� ��*��
'
% �� )��� ��


�
 ������� � �� ���� �L� 
� �
 ∆ �� ���� 2L�% �� � �% �� �	
*�
	 �	�	
 
� >� % ����
�
 @$ � ���	 �
��
 �	�������� - �� � �
 )��� 2 @$ � �
 �	�������� <�
��
�	= 
� 9
<��
���/�
��
�	�=� "�*����	
*
�� + ���������� ���2% �� �
�� ��	�	
 -

P+

2π

∫
dy−eixP+y−〈∆|ψ̄(−y

2
)ψ(

y

2
)|p〉

∣∣∣∣∣
y+=�y⊥=0

������

=
1
4

{
(γ−)

[√
2
3

ψ̄β(∆) [HM (x, ξ, t)KM
βµnµ + HE(x, ξ, t)KE

βµnµ + HC(x, ξ, t)KC
βµnµ] N(p)

]

+ (γ5γ
−)ψ̄β(∆) [C1(x, ξ, t)nβ + C2(x, ξ, t)

∆β(n · ∆)
M2

N

+ C3(x, ξ, t)
1

MN
{nβ∆/ − ∆βn/}

+ C4(x, ξ, t)
1

M2
N

{P̄ · ∆nβ − 2∆β}] N(p)

}
,

�. �
� �
��
�	� ����	����� KM,E,C
βµ �	
��
����
*
�� �����
 *��������
% ����	����


��
��	���
 
� ����	����
 �����*&# ����	��
�� -

KM
βµ = −i

3(M∆ + MN )
4MN ((M∆ + MN )2 − ∆2)

εβµλσP̄ λ∆σ , ������

KE
βµ = −KM

βµ − 3(M∆ + MN )
MNZ(∆2)

εβσλρP̄
λ∆ρεσ

µκδP̄
κ∆δγ5 , ������
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KC
βµ = −i

3(M∆ + MN )
4MNZ(∆2)

∆β(∆2P̄µ − ∆ · P̄∆µ)γ5 ,

�. Z(∆2) = [(M∆ + MN)2 − ∆2][(M∆ − MN)2 − ∆2]�
 ��� ���������� ��2J% ψβ 
�� �
 ����
�	 �
 6�	���1"��U���
	 ��� ���	�� ��
 ��	/

�����
 �
 ���� 2L� 
� N �
 ����
�	 ������	� �� �������� �
� �
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���;��	� )�������� �
� �	��� ��	��&�
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� �
� ���������� ��*����	
� + �
��
�
�� ��� ��  !�"�
,� 
�� 
� )��� �����&�
 �
 ��*����
	 ��
'�	
����� ��2J ���� �
 ���	
 �
 �����	�'�/

*����� <��	�
 Nc= ��	��� ��*&	
 �
 <����
�	�=% ��� ���� �
� <���	�
�= ���� >� #�
 ��� �
��
 ��*��
 ������
 + ≈ 2JN#% �
 ������� 
� �
 ∆ �
 ���� ��
 �
� 
'���������
	��������
��
� �� *P*
 �&;
� ��������/�������# 
� �
��
� �	��� @$ � M/∆ ���� ���	�
���/����
� - HM % C1 
� C2� "�*����	
*
�� �� ��� ��  !�"% �� 
'���
 �
� 	F��
� �

��**
 ��� 	
��
�� �
� @$ � �
 �	�������� + �
� )���
�	� �
 )�	*
 ������� (� ��	/
������
	% ���� �
 ��� �
 �� �	�������� M/∆% �� 
�� ����� ��
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�� ��*�����
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∫ 1

−1
dxHM (x, ξ,∆2) = G∗

M (∆2) , ������

�. GM 
�� �
 )���
�	 �
 )�	*
 �
 �	�������� M/∆� �0� �
�� ��
�����
*
�� 	
��
	 �
�
�	
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	� *�*
��� �
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� C2 	
��
����
*
�� ��' )���
�	� �
 )�	*
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� ��
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�
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*
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�
���
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�
���	 �
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��
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@$ � �� ������� ���� �� �����	���	
� 0� � �
� 	
������� �������
� -

H
(3)
M (x, ξ,∆2) =

2√
3
E(3)(x, ξ,∆2)(1 + O(1/Nc)) ,

C
(3)
1 (x, ξ,∆2) =

√
3H̃(3)(x, ξ,∆2) ,

C
(3)
2 (x, ξ,∆2) =

√
3

4
Ẽ(3)(x, ξ,∆2) , ������

$�	���F�
*
�� �� ��� ��  !�"% �� 
'���
 �� ���	
 *������*
 �
 	������� ���
*F�
 �� *P*
 ���� ���� e′∆γ ��
 �
 ∆V CS ���/*P*
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/
Q
���
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 ������ ���� 
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� ���
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∆+

γγ*

ξξx − x +

t

p
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���� ���� 1 7
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� ��������
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1  ���
 ��	�% �� �
�� �
	*
��	
 �
 *�
�' ��*�	
��	
 �
� @$ � �� ������� -

� 
�
�% �
� 	
������� <��	�
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� ��
 �����
� �
��
*
�� + *
��	
 �
 2JN%
�
	*
��
�� �����
	�	��
	 �
 ∆V CS 
� �
	*
� �
 @$ � �� ������� 
� ����	��

��	 �������
�� ������� + ��
 ��*&������� 
� ���
�	� ����	
��
 �
� @$ � ��
�������� $�	 
'
*��
% 
� ����	��% ���� �
 ��� ��  !�"% �� ���F�
 + �� ��*/
&������� 4

9
H̃u + 1

9
H̃d ���	� ��
% ���� �
 ��� �� ∆V CS% �� �
�� ���
���	
 ��

��*&������� ����
��
�	 H̃u − H̃d� 0� �
�� ����� 
�
���
	 ��
 ����*��������

� ���
�	 �
� @$ � �� ��������
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��
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	*
��
��
���&�
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��
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��	������
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��� ������� �� �	�
���
���� ∆��� ��� ��� �����
��
�� �� ������ �� ���������
������� �������� ���
���� ����������� ���
�
��� �
� ����
 ���! " �� ��!�����
�� ��
#���
$�� ������
�� ��� �
��� % ��&���� ��&� �� �
�'
�
� ()��* �� 
� ��� ��
��
+
�������� ���
� % �	����� �� �� �����
$�� ��� $���,� �� ��
� ��� �������� (�� ��
�� ���
-�� ������
��* % �	�
�� �� �� ����� ���������'���
$��. /���� �� ��!�����
��
�	
��'��
� ���
���� �� �� ������ �� ��0���������� �� ����� % ��������� �
!��� ��
������ �!�
�� �� ������������ ����� �12�� 3445 ���� �����
���� 1������� 2���
����������� ���
�
��� ����!�� �� 6����
� �� 6�
����� ����
�� �	��������� ���� �	����+
'
� ���� 0��
�� �� 788 9�� % : ;�0 (�� �
����
�
6 ��� ����
� �� ����'����� <.<*.
�� 6�
����� �����
� � ���� ����
���
�� ���
� ����� �
���
������
 ��� =���� � 2 ��
� ����� ������ ���� ����
>�
�� �� ����� ����� �	�
���
���� �� ����
����
��. ?� ���
��� 6�
����� ����
�� �	��������� �� �
����
�
6 �����
���� �� ����� ��
�� �� ����$��
@88 A �	������������ �12�� ����
'�� ��� 
�����
�� ��B����� (C��$�	% <88 µ� ��
$�
 �$�
0��� % @ <D 1015 ��������� ��� �������* ���� ��������� �	����� �� �����
���
�
����
0�� % ����
���� ����
����� ���� �	���� >���. �� ����
�� 6�
����� �	��������� �
��� ���
0�� ���� �� =��� � �� C�
� @EE4 �� ��� ����
-��� �
���
����� ��� �� ���������
�� �� ���
-�� ������
�� ��
 ����'
�� 
�������
�
��� � ��� ��!��� >� @EED �0�� ��
6�
����� �
�
�� % 4 ;��. ��C����	��
 ��-� �� @D88 ����
�
��� ���0����� �� ���� ��
F8 ���� �
������� ���>���� �� 6�
����� $�� 6����
� �� ����
�� �12�� �� ����
��
�� �
����������� ���� ��� ���
� �����. )�� ������� ����� ��� ��0
��'�� �G �12��
�����
��
� �� 6�
����� ���0��� ����� C��$�	� @< ;�� �� ������0
��
� �� ���� ��� ���
�
����
��� �� $����
-�� ���� ����
�� % ��� �
���
����� �� ������������
�� �� ������
�
��
$��� 34D5.
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�� �I��� (�6 >'��� <.@* $�
 ���� 6����
� C��$�	� :88 9�� �����������
��� 
��
� 
� ��� ��0
� �� @78◦ ��� �� ��� ���� ���� ����
���� �� ���

-�� ������������ "
�� !��� �� ����
+�
 �� ���

-�� ��� �� �
������
�� �� ���-�� �� ����
�� �I���
�� �
��
 �� ��
�� C��$�	% �
�$ 6�
� ���������� ��
 ��������� �	��$���
� ��� ����'
�
���0��� ����� C��$�	% : ;�� ��
� �	J��� �
������� ���� ��� ���
� ����� �
�����������
�� % ��� ����'
�� �� ��� 
�����
��� �
��������. ��� ����
�� ��� ������ �� �� �������
��
�� 6�
����� ���� ��������� ���� ��� ����'������ ��
0����.

����� �����	
�� �
 ��
����
 ������	����

�	
�C������ �����
� �� 6�
����� �	��������� $�
 ���0��� J��� �����
��� �� ��� "
��� ��������� �����
��� ���� 6����
� ��� �� ��
���� ���
+���������� �	 �����
��� ��
;��
�� (;���* 
����
�� ��� ��� ������ �� ������� �����
��� �
�����
������. �����
�����
$�� ������ �	�!���
� �� ������� ��� �����
���
�� �� 48A ��
� �� ���� ��+
��
���� ��� �����
���
�� �� :DA % @88 µ� �� ��
�
���� �� ;��� ������
��. #����
� ��
6�K�� ����
��� �� 6�
����� ��!
� �� ���0�������� �� �����
���
�� ����� ��� 6��$�����
�� F8 =L 34:5 ��
� ��� ���+�������� ��� �� ����� �����������
$�� " 
� ��� ����
�� ��+
���� ���� 6����� ���
� 6�
�����
 �
��
���� �� �����'� �	�� 
����������� ���
��
$��
���� �� 6��$����� ��� �� 4EE 9=L. ��� ���
� ��$���� �	��������� �
��
 �!����� ����
���� ������� �� ����� �� ���
 �
��� �� �� (��
�$�	
�� ��� ��� 6��$����� �� FM4EE N
@4EO 9=L* �� �	��� �
������ �� <8 �� ���� �	������������ (>'��� <.<*. ?� �� 6�
� 
�
���
0� ���� �� ���� ����� �� ��$��� �	��������� ������ ��� < �� �0�� ��� ���'��� ��
<8 ��. )� �0����'� �� ����� 6�K�� �� �������� ��� �� �������� ��� 
�����
�� ��'���
�� 6�
���� 0��
�� �� ��
��� ��� 
������������ ����
>$�� � ���$�� ���� " �
��
 ����� $��
�	
�����
�� ���
0��� ���� ��� =���� � �� � 0� C��$�	� <88 µ� ���� ��
� J��� �� $�����
������ �� '������� ��
���� ���� �� =��� 2 +�
�� �� ����� �
���
���� (�@+:* �G ���
���������� ������� �� �� �
!�� ���� ����� % '����� 
�����
�� ��� �� !��
� �� 6��� ���
��������� 9P���� �� �� �
!��.

����� ��������	 �	 ��������	
��

���$�� �I��� ������ <48 � �� ���'���� �� �� ������� �� F<8 ��0
��� ��������+
��
��� �� �
�!
�� ������� �������������
��� ��� ���� ��6��
�
������� % < Q ����
�� �	=��
�� �����R�
��. �� ��������'
� �������������
�� ������ 
�
 �� �
�
��� ���
������ ��� ���� ����� ���� ��� ��0
��� �� �	����
���� ��� 6��$����� �	���������
��



@@< ����
��� <. ?
����
�
6 �
���
������

����
 ���0�� $�� �� 6��$����� ���
0��� ��� �	
�C������. ?��� ��� �I��� ��� ���������
���� ��������� ��� ��� ���'���� ��
�� �� 78 � S 
�� � 0�
��� ���� ����'
� ��'������ ��
6���� �C����!�� �� 488 % :88 9��. I�� ���� ��������� �����+�����
0
���� �-� ���� ����
�
�� �	
�C������ % 4D 9��. ���� 0
����� ������� ��������� $����� $�� ��
� �	��'������
��
�� ���� ����'
� 
�� ���� ���C���� �� ����� �0�� �� ����� ������������ " �� ���� �
��

6�
�� �� ������� �
����������� �
�$ 6�
�����
 �	��������� % �
�$ ����'
�� �
��������
���� �� �J�� �I���. �� ����� �	�� ��� ������������ �
���
�� ��� ��������� ����
��0
�� �� @78◦ �� ������� 0���
�������� ��� �� �
0
���� ��'���
$�� ����� ���� ����'
� 
���� J��� �
�
'�� 0��� �	��� �� ���
������
�� �������
�. ��� ���� ���� �� ���!�� �� E
��
� D ���� ������ �� �I��� ���� �� �I��� ��� �� 4 ���� ��0��
� �� �I��� ���
�� �I��� ����. � �� >� �� ���$�� ��� ��� ��������� ���� ������!��� ��
� ��0����
���� �� �I��� ������. ����� ������
�� ���0��� J��� ������� C��$�	� �
�$ 6�
� ���
��������� ������� % ���$�� 6�
� ���� �� ��� �
������ �� 6�
����� ���� ��������� % ���
����'
� ��

���� �� : ;��. ���� �� �	�
���
���� �@+: �� 6�
����� � ��� ���!
�
�� %
5, 75 9��. #��� �� 6���� 
� ��� ��0
��'� �	��'������ �	����'
� ��

���� �� 6�
�����
�� �12�� C��$�	% @< ;�� �� �C������ ��� ��0
��� �������������
���.

����� ��	���	
�� �	 �
�	�
�
	
�� �
 ��
����
 ���� ��� �����

�����
���	�
�

� �� ����
� �� �	������������ ��� �� ����0� �� �
����
�
6 �	�
�����
�� �� �	����+
����� �� ���������� ���
�+6��$����� $�
 ������
���� ��� ��$���� �	��������� �	���-�
���� ����� �� ���� �
��
 ��0���� ���� ��� ����� �
���
������
 ��� 6�
�����
 �����
�	����'
� �������� ����� $�	
�� ������ ������� �� ���
... �� �
�$ �����'�� ���� ��
!����� 6����� ��� �� ����
�� �12��. ���$�� ���� �� ����0� J��� �� ��� �� ����
+
>�
�� �� ��� 
�����������
�� ���� ����
���
-������ ����
�� % �� ���� �	�
���
�����
�����. �
��
 �� =��� � �0�� ��� ���
 ��������-���� 
����
$��� �� ��-� ����� ��+
�����
�� (∆P/P ≤ 10−4* ���� ��� ����
����� �	
�����
�� ������ C��$�	% 4 ;��T� 
������ ��� �
���
����� ������
���� ��� ��-� '����� ����
�
�� ��� �� ������ ��� 
�+
����
��� �� �	�������� �
���� �� �� ������ �� ����� ����� �	��� �� ��� ���� ���
�
���
����� �� ?
���
�� ������� �
�������. �� =��� � �!�
�� ��
 ����
 ���
 ����+
����-���� ��
� ����� ��� ��������
��
$��� �
�������� S !
�� $�	
�� ���������� ����
��� ���
 ��� !���� �������
�� �� 
�����
�� (∆P/P ≤ 10−3* �� ����
�� ��� ��+
�
� % �� ������
�� �� ����
����� �� ��-� '����� 
�����
�� (C��$�	% O ;��T�* �����
$�� �� ������ �	��� ��
 ����
����� �� ������ ����� �� 0
� $�	
� 6��� �������� �0���
���� ���
���'���
��. ?�� �
���
����� % '������
� 0��
�!�� �	��
�
���� $�	��� ����
� ��
�	
�����������
�� ���0��� �'������� J��� ���0�� ���� �� =��� �. ������������ 
� ���
��
��
�������� ������ ��� �	�
���
���� Go. 1�>� �� =��� 2 �G � �� �
�� �	�
���
����
�@+: �����
��� �� ��������-��� ���� (�12�� ���'� ���������� ������������* $�
 



<.F. �� ?�������� ���� @@F

���� <.F H ���������	�
�� �� 
	�� '$ �� !	
���	� 	��
�� �	�� �� 
	�� �� (	� � ���
��$
�� ��������� %�&) ��� ���������� 	� �
�
�� �� 
	��$

����� ��� ��� �	
��
$�� �� ��������
�� ��� �� '����� ���������� " 
� ��� 0��� ��

�
���
����� ���������� �� ������
�� �	����� >���� % ����
���� ����
����� �
��
 �	�����
��� ���������� �� ������� ��
� ����
 �� ������ ��� 6������� �� 6���� �� �����
�
��
��� ���������� �� �	����� �� �� ��������� �� ��
� �� ������� �0�� ��� 6�
�����
 ��
��� �
!��� �����
���. �� ����'����� $�
 ��
� ����
� ���� ���'����� �� ��������� ����.

��� ��  �������
 ���!

�� ��������� 4π �� ��� �� ���� ��� �
��� ���� �� =��� 2 �� ���! (�6 >'��� <.F*.
1� ��� ������ �� ����0� ��� �
!�� $�� 0
��� 6������ �� 6�
����� �	��������� �����
� ���
�	������������ �12�� (����
� �� ����'����� <.@*. ?��� �� ����� �� �	�
���
���� �@+: 
�� �
!�� ��
�
��� ���
� ��� �
!�� �	=����'-�� �
$�
�� ���� ��� ������� �� Q����� �� D
�� �� ���' �� �� @D.D �� �� �
��-���. ��� ����
����� '������� ���� ����� ���������
��� ��� �
������� '������ �� ���������� �� ����. ?	�� �
��-��� �	��0
��� D � ��



@@4 ����
��� <. ?
����
�
6 �
���
������

���� <.4 H *�� ���	��� �� ��������� %�&)$

��������-��� ���� ��� �������
� ����� �

 !�!
��� �������������
��� $�
 '��-���� ��
����� ��'���
$�� ����U��� ������
$�� ��� ������� % �� �
'�� �� 6�
����� 
��
���� "
�� ����� ���� ��
�
�� ���� �	������� �� 
�����
�� ��� ����
����� ����'���. ��� �


!�!
��� ��>�
����� ���� �	������ �

 �������� ������
$���. ���$�� ������� ��� ����0�
�� (���� �	����� �� ������� �� �� �
!�� 0�
� >'��� <.4* S

H ��� ��� �
������ �� $���$�� 2, 50 � ���
� ��'
��� �� ����!��� % >�� ���� ��
!�� ��� �� ������
��� ��� ���C����
��� ��� ����
����� ����'��� 

H ��
 ��'��� �0��� �� �������� V�����,�0 % '�L $�
 ��������� �� �
���
�
���
�
��� �� ��������� 

H ��������� ��� ����!��� % >�� 47 ��
��
�������� �����
$��� ���� �� �������������
�� �� ������ �� ����� �� 0�� 

H ��
 ��'��� �0��� �� �����
�-��� ���������'���
$�� ����
�� % �	
����
>���
��
�� �� ������ �� �	����'
� ��� ����
����� ����'��� �
��
 $�	% �� ������
�� ���
����
����� �������.

?� ���� % �	������ �� ���� �
���
������ �� ����0� �� ����-�� ���
�����T��
$����'�
�������
�� ���� �����
�� ��� 6�
�����
 �� ������� S 
� ������ % ����
� �� 6�
�����
��
��
�� �	��������� �	�!���
� �� 6�
����� �� ������� ����� ��� ����������� ��
6��
��'� �� �� �����W��� ���� ����'
�.



<.F. �� ?�������� ���� @@D

����� �����	��
�	
�
�� �
 � �	!�� �� ��	��	
��

1���� ���� ����
���
-������ 0��� % �	����� �� �����
��� �
����
0�� �� ���� % ��
������
�� �� ����
���� ����
����� ���� �	���� >��� �� ��������-��� ���� �������� ���
��������
��
$��� ��
0����� S

H ��� ���'� ���0������ ��'���
�� ���� ��� ����
����� ����'��� S ����� 7◦ �� @48◦ 
(���� ��� ������� �	���������� ��� �� 7◦ % 4D◦* 

H ��� !���� �������
�� �� ��'�� S 1 ≤ δθ ≤ 1, 5 ���� �� 2 ≤ δφ ≤ 3 ���� �����
�� 
�����
�� S 0.5% ≤ δp/p ≤ 2A ���� ���0�
� ����
$��� �0�� ����
�
�� ��
�����
$�� �� �� ����� ���$����� �
��
 $�	��� !���� �������
�� �� ����� S
100 ≤ δt ≤ 250 �� �� �� ����'
� �� ������ S δE/E ≈ 10A/

√
E 

H ��� !���� 
����
>���
�� �� ����
����� S πTQ ���� p ≤ 1, 5 ;��T� πT� ����
p ≤ 3 ;��T� �� π/e ≤ 10−3 

H ��� ��$�
�
�
�� �� ������� ���
�� �� ��
��� �� �� '����� ���������� S ���
�
����� ���� ��� ���
���
�� (
�����
�� �� 6�
����� × ���
����� �� �� �
!��* ��
1034.cm−2.s−1 �� ���
 �	�0�������� ��� �� @.D ,=L �� �� ���
 �	��$�
�
�
��
�� @892T� " �� ����-�� �	��$�
�
�
�� ���� ������� ��� ������� C��$�	% F+4
,=L. ?� ���� �� ����-�� �� ������������� �� ��
� �	J��� ��-� ������
6 ��� ���
��������� ��� �
��� 
����
>�� ������������������ ����� ��� ��������� �����
��� ����� 
��������� �� !��
� �� 6��� ���� ������ ��� �
���
����� �� �� ����.

/� ����0��� ��� �����
��
�� �����-�� �� ��������� ���� ���� �� ��6������ 34O5.

����� �����	��
�	
�
�� �
 ����� ��"��	
�
�

�� ����� ��'���
$�� �� ���� �� ��0
��� ��� ����
����� ����'��� � ���� �X�� ��
��������� ���� 
����
>���
�� �� �� ������ �� ���� 
�����
��. I� �� �������� ���� ���
6���� 
���!
������ % ��0�
� S ����U����. ������ ����$��
. ?��� �� �
����
�
6 ���� 
�� ������� ��� ����
����� ��
��� ��� �� �
!�� >
� 0��� �	J��� ��
 ��'��� �0��� % �����
�� �!����� �� ������L " 
� ��� ���� �������
�� �	�0�
� ��� !���� �������
�� ��
 ��+
�
�� ��'��� % �	�0��� (
.�. ���-� �� �
!��* �� $�
 ��� �
����� �� ����
� ��� ����
!��
�0�� �� ����� ���'
���
��� �G �� ���C����
�� ��� ����
����� ��
��� 0��� �	�0��� ����
�
���� �� �
����
�� �� ����� �� ��� �����$���� ��� ��0
��. #�� �
������ �� �����
����0���� ���� ��� ��� �
����� $�
 ��
 �����
����
� ��� !���� �������
�� ��
 ��'���
�0��� '��-����
� ����� !������� �� !��
� �� 6��� ���������'���
$�� ������
��������
�Y ��
 ���������� 9P����� $�
 ���0
�����
��� ����� �� �� �
!�� �� ����
��� ��
� ����
�� ���������. #��� >�
� 
� ��� �����
��!�� �� ������0�� ��� ��'
�� ���� ����� ������
�� �� �
!�� ���� ��� ���
�����
��� ��
�
���� ��� �
!�� �����
���. ?	�G �� �������
��
�� �����0�
� �� ����� ��'���
$�� �	��� 6���� ���0���� $�
 ��������
� ��� ������+
�
��
���. �� ����� ����U��� �� ���� ���C���� �������
����
�� % �	
�����
�� ���
����
����� ������ % ��� �

'����� S �� 6���� '������ ��� �

 !�!
��� �����������+
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���� <.D H )�
��	 ��� �
� (�(
��� ����	��������
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��� �� D � �� ���' �� @ D � �� ���'� �
������� �� ���
-�� ������
$�� ��� �������
% �	�
� �� 6�
����� (0�
� >'��� <.D* ���0�� ���� �	������ �� ��'�� �	��
��
�� θ ��
��� 
�����
�� ��� �� ���� 6���� ��
 ���
�� ��'��� ( <�.�* �G ��� ��
��
��� �� ����
+
����� �� 6��� % '����� 
�����
�� �� �����
� ��
 '����� ��'��� �G ��� ����
����� ���
��� 
�����
�� ��
���� S �
��
 ��� 
���'����� �� ����� ���� �
�������� ����� �	��'��
�	��
��
�� �� $�
 ������ �� ������0��
�� �� �� ����� �������
�� �� 
�����
�� $���
$�� ��
� θ. ?��� �� ����� ��� ����
����� ��� ��� ���C����
�� ����� ����0� $�	����� ��
������� ��� ���� ��-� ��� !�!
��� �G �� ����� �	��� ��� ���6�
������ �L
�����. #��
������ �	���������� '������
$�� ��� ����
�� ���� �� �
����
�� �L
������ ��� �� ���+
����� ��� !�!
��� " �� ��� �� ���>'����
�� �� ������+�
 �� ������� �� φ ��� �	������
���� 
��������� $�	�� �� ����� % �	�0���. �	
�����
�� �� ����� ���� J��� ���
>��
�� 6�
���� 0��
�� �� ������� $�
 �������� ��� !�!
��� �� ���
-�� % �	������� ��
 ��+
����� $�	�� 0��� �������� S �� ���
�
�� �
��
 ��� 
�����
�� �	������ ���� ���0�� $��
��� ����
����� % �������� ��� ��� '����� 
�����
�� �� $�
 ���� ���� ���� �� ����+
!�� ���� ���C����
�� ��0����'� �� �	����
���� ��� �% �� �������
�� �� 
�����
��. 1�
�����
� ��� !�!
��� ���0��� �������� �� ������� �	��� 
�����
�� ��

���� �� F7:8
� ��
� �� ����
$�� �� �� �
�
�� '����������� % �� ��

��� �� FFOD � 0�����
���
�
� ���� �� �	�
���
���� �@+:. /� � �'������� �� �
!���� �� ��0
�� ��� ����
�����
�	��� ����'� ������ ��
� 0��� �	�0��� ��
� 0��� �	���
-�� ����� �� ���� �� ������� " ����
��� �
���
����� �� �
���
�� ������� �� � ���
�
 �� �
�
'�� ��� ����'�� ��'��
0��
0��� �	�0��� �������� ����� ��� ��������� 0��� ��� V�����,�0 �� ��� �����
�-���� �
����
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 �������� �� ���� �� ����0� ���
� ��'
��� �� ����!��� % >��
(�� ����!��� % ���
0�* (������������ >'��� <.4*. ������+�
 ��� ���� !�� �� ���������
�� �����������
�� ��� ���C����
��� ��� ����
����� ����'��� �� $�
 ��� ������
�� ���� ��
������ �� ���� 
�����
��. Z���� �	
�����
�� �� $����
�� ��� 
��������� ��� ����
�����
���� ��� ��0
��� 
� ��� ���� �������
�� �� ���0�
� ������� ����� ��0
��
�� ��� ���
�
������ ��B�����. #��� �� 6�
�� ��� ��'
��� �� ����!��� % >�� ��� ��� �������� ��
�� 6�K�� ��
0���� $�
 �������� �'������� �	�0����'� �� ����
�� ��� ��� �� �
���
��
����
��� S �� ����
-�� ��'
�� �� �
��� % O8 �� �� �� �
!�� ���� ��� L��� �G �� �����
��'���
$�� ��� �� 6�
!�� 
�����
�� " �� ������� �� ����0� % < � �� �� �
!�� ����� ���
!�!
��� ����������� ����
!�� ��� �� ����� ��'���
$�� ���� 
������ � ������!�
��� ���C��� �� ���
0� ��� 
��� ���� ��� ����!��� % >�� " ��>� �� ���
�
-�� ��'
�� ���
�����
��� ��+���% ��� !�!
��� % 4 � �� �� �
!��. �	�����!�� ��� ����!��� ���0��
�� ����
�� ��'���
�� �� 7◦ % @4<◦. ���$�� ����!�� ��� �������� �	��0
��� @ED8
>�� �����
����� ���
 ������������ �� 6���� �� $����
�� �	����'�. ?��� �� ����
-��
����������� ��� >�� �
�� ����� �>�� �

��
� ���� ��
����� ������-������ �� �����
��'���
$�� (�� ���� �������
����
������ �� ���� �� ����!��� ��� ����
�����* ����
�
$�� ���� �� ���

-�� �����!�� �� ������� ��� >�� 6������ �� ��'�� �� :◦ ��� �������
��
 ����
��� �� ���� ������� �>�� �������� " ���� ���� ����
!�� �� ������
���
�� ��
�	��'�� �L
����� φ. ���$�� ����������� �������� �

 ������� �� >��. ��� �������
�	����� ����� ��� >�� $�	�� �
��
�'�� �� �>�� �� ������
��� ������ % �� ������
�� ��
+O88 � �� �� �>�� ���
6�� ������ % [@D88 � 6������ ��� �������� ��
�'������ S ����
������� �

 >�� �� ������
�� ���� �
������ �� 6�K�� ��
�'����� ������ �	�� >� ���
6 "
����
+�
 ���
� % �� �?� ��� ����'� �� ��������� �� �
'��� ���0��� ��� ��� ������ 
��
���
��� �� ����
���� % ��������. ��� �������
>������� �
���
�
������� ���
�� ��
 FD888
>�� ���
6� ���� �
���� ����
-�� ��� !�!
��� �������������
��� �� ������ �� �� L���
�	���������� �� ���������. �� �
������ ����� >� �� ������
�� �� >� ���
6 ��'�����
����� �� �	���
'�� �� �� �
!�� �� 0��� 8 O �� ���� �� ��'
�� @ @ D �� ���� ��
��'
�� < �� < �� ���� �� ��'
�� F. �� �����'� '�L��
 ��
�
�� ���� ��� ����!��� ���
�����
��� % E8A �	��'�� �� % @8A �� �/2. I� ��� >�!�� �� ������ ��� !���� ����� ��
0
� ��� ����������. �� �����'� ���6-�� ��
 ����!��� % ���
0�� ��� !���� �B���
�� 
��� �������
�� �������!�� �� �� ����� �� �������
�� ��� 
��� �	��0
��� @88 �� �� $�

��� ���
�6�
����. ��� �
�$��� �� �
���
�� ����
��� ���� �
�
��� ��� ��� ���
����� ��
���
-�� ��� ����!��� % >�� �� ��
�� �� @A �� �� ���'���� �� ���
��
��.
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��	����� �� ����� �� ��� ���� �� ������� �� %�&)

����& '��
�� �
 	���� �� %�� ��� ��� ��
�	
���	�
��

)�� ��� �����
$��� ���� ���� �
������� ���� 
����
>�� ��� ����
����� ��� �� ��+
���� �� ���� ����� �� 0�� $�
 ������ �� �������� % ���� 0
����� ��
� % ���� �����.
��� ���������� ���
�� % ����� ������ ���� ��� ��
��
�������� �����
$��� �
���� ����� ���
��������� V�����,�0 �� ��� �����
�-���� ���������'���
$���. I�� ������
���� �� �����
�
� ��� ��� ����
����� ���� ���0����� �� �
������ �����
�� ����� ��
 �� �� �
!�� �
��
�� �� �����
��.

��� ��
��
�������� ���� �� ���!�� �� $�������+��
� ��� ������� (�6 >'��� <.:* ��
�������� ��� ���6��� ������ �� <88 �2. ��
 ��'��� �0��� 
�� ���� ������ % 4 E8 �
�� �� �
!�� �	�G 
�� ���0���� ����$�� ���������� �� ����
�� ��'���
�� �� φ (�� +<E◦

% [<E◦ ���� �� ������� @ ��� �
�����* �� �� ����
�� �� θ �� 7◦ % @4<◦. � �	�0��� 
���$�� ��
��
������� 6���� �� ������'�� �� F< �� �� ���' �� @D �� �� ���'� �� $�

�����
�� �� �������'� ��'���
�� �� θ >� �� �	����� �� F◦ " ��
 ��'��� ���
-�� 
��
�������� 4D8 �� �� ���' �� << �� �� ���'�. ���� ���
����� ��� �� D �� ��B�����
���� $�� ��� ����
����� �� �
�
��� �	
��
���
�� �����
���� �� �
'��� �
������
�!��
�� !��
� �� 6���.

1���� ����� $�� ��� ��
��
�������� ����
�
���� �� ������������� �� �
'��� ��
��
0��� ������� ����
������ �� ����� �� 0�� ��� ����
����� 
�� ��
0��� �������
������
��������� ��� ����� �������
�� �� ����� �� �� ����� ��� !���� �������
�� ��'���
��
�� θ. �� ���� �� ��
��
������� ��� �� 2
����3 (2�+487* $�
 �������� ��� �������
�� ����� ���
�� �� ���� ��$��� �� ���
-�� �	������� ���. �� �������
�� �� �����
�!����� ��� �	��0
��� @<8 �� % �	�0��� ��
� ���� �����
� % <D8 �� % �	���
-�� ��
�$��
��� ���������� ���� ���� ���'� " ����� �
�
���
�� �� ���� ��� 0��
���� �� ���!�-�� 
���� �� ������ �G ��� ����
����� $�
 ����
'���� �� ��'
�� ���
-�� ��� ��� 
�����
��
��
���� �� ��� �����$���� �� ����� �� 0�� �����
��� % ����
 �� ����
����� ��
���
0��� �	�0���.



���� �� ����	��
� ��
� ���

��
� ������
������	���
�� ���
�� �
� ���������� �� 	���
� �	���������
� ������
�� ������ �� �� ����� ��������� ��� 	��	
�� ��  ������ �� ��!���� ��� ����� ������
��� 	���
� ���	��������
�" �#� �� �������� ��
�� ����
� ������������ �� �� ��$
������ ��������	���� �� ���� �
 �	���������
�� ���������" ��� ���	��������
�� 
�������
������� ��� ��� ���	��������
�� %  ��	���� 	��������" ��  �
��� �&�	�
�� 
������
��$
���� 
�� 	����	���� �� �� ���������� �
� �
 ����� �� ������ �� �����
������ '��
���
�� ���(	�	���" ���� �� 	�� �) 
�� �����	
�� �� ���*�	����� 	�
�+�� ��
	������
��
� �	���������
�� % ��  ���" ��� �������� �������� ���� ��
� ����	��
�� ��*�	����
���� ������������� ��������
�� �
 ������ ��� ����� ��������������� % ��������� ������
�+�������� ��� �� �����	
���

'�������� �� ����
�
� �� �� ���*�	����� ��,	� % �� ���
�� ���� ��� 	���+��� %
#��" �� ��� �� ���
�� �� 	��	
��� �� ������� �� �� �����	
�� - �
�� �� ����� ���+����� %
������ �� �����
����� ��	�����
���� �� ������������� �
 ����� �
 ������" �
� �����
�� ����� �� ������ ��
� �� ���
�� �
 ����� �� ���" ��  ��� ��,	� % �����	���� ��� ��
 ���
�� .

tvtx = teSC − leDC/ve, /���0

�) teSC ��� �� ����� �) �����	���� ��
	�� ��� �	���������
��" leDC �� ������	� ���	�
$
�
� �� �� 	�+�� �
� �	���������
��" �� ve �� ������� �� �����	���� /�� ���		
���	�" 	0�1�
��
� ��	��� ��������� �� ���	����� �
 ����� �� ������ �� �� ��������� $/���0$ �
�
	���
� ���
�� �����	���� �
� ������ �
� �� 	�+�� ��� ����� �� �2 �� �� �
� 	�� ���
���
���� ����	�� �� �"223 �� - �� 	������ ����� �� ����� �
 ������ �� 
�������� ��  ��� �
�
�� ����� �� ������� �
 ���
�� �����	���� ��� ���� �
 ����� tRF �
 ������ ����� ���
��� 	������ �		��������	�� ��� �45
�" ���
�� �"223 �� .

tcvtxorr = (tvtx − tRF )[2, 004] − 2, 004/2. /���0

1� ��
� ����� ������� ��� ����� ��� 6���� ��
� ��� ���
������ ������ *
��
�% �
7�89	�

��� �	���������
�� �������
�� ������� �
��� % �� ���
�� �� ��������� /��� �����
�� ���0 ��� ��
�����" ����+����� 
��  ��+�� �(	�	��� �� ����	���� ��������� :;�
���� ������ ������� ������ ��
� 
�� ���
�� ��������� ���� ��� ������� �
� �� ����
��� 	�
����� ��� ��� 	������<���� /	����$%$���� ��
� θ > 3:◦0 �
 ��
� ��� �����	
���
�� +���� ������� / < 400 =�80" �
���
� ��� �	���������
�� ��������� ��� ��� 
��
������
�� �����
���� �
� ��� 	���+��� % ������" �
��� 	�����$	� ����
����� ���� ��
��&
���� �
�������

1� ���
���� �� ��
� ������ ������� �
� ��� ���
��� �� ����� �� ��� ��� ���
�	���������
�� �� ��
� ���� ��� �� ����	�� >3?@ �� >3�@�
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B
��� �����<�� ��� 	���+��� % #��" �� ���
���� ��� ����	��
�� C�����6��� ����
�
��	��
� �� ��
� 	������� �D ������� �� ����	���� C�����6�� �� θ" 	�������� 	��	
��
�� ��
� 	�����
�� C�����6�� " �� ���������� �� 	�
���� 
� �����
� ������	� �� φ
/���� #�
�� ��?0� ���	
� ��� ��	��
�� 	����� �E C�����6��" 	� �
� ����� �� ���+��
�� ����	��
�� C�����6�� % ��E ��
� �������+�� �
 ���	����<��� ��
�� ��
� �F��
���� ������!�� �� ����� ��������	� ��� ������ G� �&��" ��
�� ����" ��� �������� ���
 ��
������� ��
� �� ����	���� ��� ���	����� ��" ���
��� ����" ��� ���� 	������ �� ���	�������
	�
�$	� ��� �
���� �����	
����

�� ����	��� ��� 	�����
�� C�����6�� /���� #�
�� ��D0 ��� �
�
�� �����	
�� ������$
���� 
� �����
 ����� ���	 
�� ������� �
�����
�� % 	���� �� �� �
��<�� ���� �� �����

�� �
������" ���� 
� ��!�������� ����������� ���
���� ��
� ������ �
� �����
�����
�� �� �����	
�� ��� ������� ����� �
��<�� C�����6�� ��
��� H��� ��	
����� ��� �����
������� �� ������� ���� 
� ������
������	���
� �
� ����
��� ����� ��� ��������	�����
�
�������� �� 	��	��� ��� ��� ������� �� ���� �� ���+�� ����  ��	���� �� �����������
�
 ��!�������� C�����6�� ����������

������ ���
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 ���I
���+
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��� ���	����� ��� ����� �
������� ������#�� 	���� ��� ���	�����" �� �
� 	������
���

�� ���� ���������� �
 +�
�� ��  ���" % 	�������� �
� 	�
�$	� �� ��������� ��� �":
7�89	� G�  ���" ��� ����� �� �": 7�89	 ��� 
� β �
(������� ����� ��
� ����
���



���� �� ����	��
� ��
� ���

���� ��D A �
�
���� ��� ������	
� ���
�
����

�� �� �
��<�� C�����6�� ���� 
� �����
 ������	� n = 1, 00153 - ��
� ��� ���	�����" ��
��
�� ��� % � =�8� ���������" ��� ����� �� E22 =�8 ��
���� ���*���� ��� ���	�����
δ /��� ������	���� ���	 �� ����<��0 ��������� �
�����
�� % � =�8" �
� �
� ����
�����

� ��
 �� �
��<�� C�����6��� ����� �����<�� 	���	��������
� ��� % �� +��� ��
�� ���
	�
�
��� �
� ��
� 
�������� ��
� ���
��� �� +�
�� ��  ���" 	���� ��
� �� �������
�
 ���������� ���� K!���
�����" 
� C�����6�� � 
� ��
���� �� ��*�	���� �� �22 .�
��
� ��� ����� �����
����� �� ����
�� % �": 7�89	 - ���������" % ����� �����" �
���
�� ! � +��
	�
� ��
� �� ����� �
� �����	�����" �� ������� ����� ��� ����� ��� ����$
��#�� 	���� ��� ���	����� �� ��� ����� ���	����� � ������	� % +��
	�
� �
��������
���� 	� 	��" �� ������	� ��� 	������<���� ���	�����������
�� ������ ���		��L��� ��
��*�	���� ��� ������

���
��� ����" ���(	�	��� ��� C�����6�� ���� H��� +��� �M� �� ������
�� �����+��"
��" 	����$	� ��	���� ����������� �% �) ��� ��
� 	�����
�� ��
�� �H�� ������ ��
��*�������/Φ = 00" ����� �
��
 +��� �� 	���
� ����	��
�� ���� ��������
� ��� ��  ���
�
� �� ��!�������� C�����6�� ������� ����� ��� ������� ��� ������� . �� �� ���
��� �
�
�� �
��<�� ��� ����� +��� 	����	��� �
������
��� '�
� 	�������� 	���� ���
(���	�"
�� ��
� ������ ��� �����
� ��� ������
������	���
�� ��� ��
� C�����6�� ����!���
/��������� % Φ = 00 �
 �H�� 	�
� �� �
���� 	�����
�� �������� �� 	���� ����<��"
�� ��� �M� �� ��	
����� �� ��
� ������ ������ �� �� �
��<�� ������

����� ��� ���	��
����� ������	
�������
��

��� 	������<���� ���� ���������� �
  ��	���������� �� ��
�� 4�� ��� ��
�  ��	$
���� .



��� �������� �� ��������� ������������

A �� �����	���� �
 ��	���	������ �� ���	�
������� ��
� ��������� �� ��
��
A ��������#�� ��� ���	����� �� �� �����	
���� �� ��*���� ��� ����� ���� ��
� ���

���	������
A �� ���
��� ��������� ��� ���	����� ��
� Ee > 0, 5 7�8
A ��������#�� ��� ������� �� ��� ��
����� �� �� ���
��� ��������� ��� ��������

4�� ���� �
 ���+�� �� ��� /
� ��� ��	��
�0 �� ���� �� ���
���� 
�� ���	�������
���� �� �� ����	� >3D@� 4�� ���� �������� % ������� �
 ����	��
� /�� ��!���� % : �
�� �� 	�+��0" �� ���������� ��  ���� ��
� �������� �� 3 � �� 	��� �#� �� ���������
% �� ��������� ��� ������� �� ��
� /	 #�
��� ��3 �� ��:0� G� �������
�" ��� ����
	������� �� �� 	�
	��� �� �	���������
�� �������
� �� � 	� ��������� ���	 ��� ����
��
�� ����+ �� �"� ��� 1� ���
���� 
�� �
� N�	�����O �
 	������<��� #�
�� ����

����
� 	�
	�� �� �	���������
� ��� 	������� �� �E �������� /�
 �
+��0 �� �2 	�
�� �����
� �� ������<��� % 
� ��� 	���� �
 ��������� 1� �������" ��
�� 	�
	�� % ���
���"
������������� ��� �������� �#� �� ��#��� ����� ���� ��&������ /�
 �
��0 ������� P"
8 �� Q" �������" ��
� �� ���
���" ��
� ����� �� ��2◦� �� 	��+������� �� 	�� �����
�
�� ������ �� ��	������" �� ��
� ����������" �
� �� �
� �	� �
 ��������" �� ��������
�� ��������	���� �� �� �����	
��� �� #�
�� ���2 ������ 
� ��������� ����	�� ���� ��
	������<��� - �� ��	������ ��  ���� ������
����� �� ��� ����� �
�� P"8"Q� R�����
���
�
� ��  ��� �
��� ! ��� ����� ����	����� ���+��������� ��&������� ������ �� �������
��� ���������� �
������� �
� 
�� �H�� 	�
	�� - �� ��
� �����	
��� �������������
���
��������� �� ! �
�� ��
*�
�� 
�� ����	���� ��
� ���
���� �� �
�� 
� ������ ����
��
� �
+�� ��&�������

�
 ����� �� �
� �� �� ��	
�������� �
 ������" �#� �� ������� �� ���+�� �� ���$
���
������	���
�" �� �� ��	
����� ��� �� �
��<�� �� 	���
� �
+� ���� ����������� 1�
������" �
 	��������" �� 	������<��� �� ��
� 
����� �� �: �� �3 	�
	��� /�����	����$
���� �D"� �� ��"�D 	�0� 5�
� ��� ���������� �� ������ N4����O /	�� ���� �� ���
� ����
���������
�0 �� N1
���O /��
� �������
�0 �
 	������<���� '�
� 	��	
�� �� 	�� ��
�
�������" �� ��
� 
�� �H�� �
�" ��� �
+�� 	������������ % �� �H�� �������� �
� ��
�������� ���� ������ ����� �
� % ������ �� �
��� �� �
��<�� �#� �� ������� �� ������
��������� �
 ������<�� �� �	����������� ���� 
� �H�� ������
������	���
�� �� ��$
���� ��� ���
��� ���
�� % ������ �� ��
� ��������� � ���	������
�� . ��� 
�� 	������
������������� ����������� �
 ������ /��������� ������� ���� �� 	������<���0 �� ��� K��
�
� ���
�� �� ����� t �� ��������	�����


����" ��
� 	���
� ����	���� /P"8"Q0" ��
� ����� ��
� �� ��������� �� ��������
�� ��
� �� ����� /	������������ % �� ������ N4����O �� % �� ������ N1
���O �
 	���$
���<���0� �������H� �� 	���� ���������� �� ��
� ������� ��������� 	���� �����
� ��
�
��
������� ��������#	����� ��� ���	����� �
 ���������� ����

�� �����
���� ������
� ��� 	������<���� ������ �� �� �����	
�� 	���������� '�
�
��� ���	����� �� ��� �������" �� ���
�� �� ���F� ��������� �� �� �������� % 
�� ��$
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�
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��3 �������� �� ��������� ������������

���
���� �� ∆E
E

< 0,1√
E

� '�
� ��� ��
�����" �� �����	��" ��������� ���� ���
��� ���
�� ����� �� ���� 1�" ��� ��
����� ��� 
�� ���+�+����� ����� ����������� % ���������
�
���� ��� ����
� ���� �� 	������<���� �� ��
�� �� �������� ���� �� ������� ��� 	����
�� ������ �� �� �����	
�� � �������� ���� �� ������ N4����O �
 �� ������ Outer �
 	���$
���<���� 
����" �� �
�� ��
*�
�� 
�� ����
� �!��������
� �
� �� ������	� �� ��� L ��
± �"�: 	� ���� �� 	�� ��
�� ������	���� ���� �� ������ N4����O �� �� �3"E3 	� ��
�
�� ������ N1
���O� ���� ���������� 
�� ����
� �� �"D; �� �"D; �
� �� ������	� ������
�� ��� /�� : �0�

��� �����	
���
� ������

�� �
� ��
� ��������� �	� ����������	� ��$E" 	�������� % 
�� ������� ���	�
�������
�� ������� /�
 
	
0 �
� �����
��" ��  ���" ��&������� ��������	�� �� ��!���
��� ��
��
��� ��������	��" ���� ���
���� �� ���
�� �� ��4'5 ��1���! � ��� ����	������ ������
�"
������ G��$�2:" ��� �� ����
	���� �� ����� ��	��
�� ρ �� ω �
� �� �
	����" >:2@ ��
>:�@� ���������" ��� 	��������� ����������	� ���������� % ���
��� ����!��� ��
�������
��� �H��� ������� . G��$�2? >:�@ �� G��$�2D >:�@ �� ��������� ����
���� �� ����
	����
�� �������	�� % ����� Q2 - G22$��� >::@ ��
��� �� ����
	���� ��	�
���� �� 6�����
5���� ��������	�" �
��� % ����" ��� ���  ��� ���+*�� ��
�� ����������� ����������	� %
���������� ������" ���� 	��������� ��
�F� % 
�� ��
�� ��  ����+����� �
� 
� �������
������" �
��� +��� ��
� ����� �� �
� ������������ �
� �������
� . �� ����
	���� ��
�������	�� ∆ % ������� 
� ���	���
� �� ��&
���� ������� ����
��� 5�
� ����� 	�����
�� 
	
 ��$E 	�� ��� 	���	��������
�� �� 	� ������� ���� +��� �������� % ����������	� �
�
��
� ��
���� ����� �� �
� �� �
������ �� ������� �		
�
���� ! ��� 	��������+��� G�
�&��" �
 ���� ���	��+�� �22� �
 ���� �� *������ �22� /���� % ���
���� ����������	� �
�
 ���
0" �"�: ��������� ������������ ��� ��� �����������" 	� �
� ������������ �� K�
/K����	����0 �� ��������

'�� �����
��" ��� 	��������� ��������� ��  ��	���������� �� ����������	� ��� ���
#���� ��
� ��������� ����������	� G��$�2: /�� �������� ��
�� ��� % �� ��� ������� ���
�
���� ��������	��0 �� ���� ���������� ���� �� ��+���
 	�$�����
� .

K!�� ��  ���	��
 ���	����
G������ �
  ���	��
 :"?:3 7�8
4�������� �
  ���	��
 ? �

=������
 �� �� 	�+�� S!����<�� ���
���

'������� 	�+�� $3 	�
�����
� 	�+�� : 	�

��
���� ���� �������� ��?: 




��3� ����������	� N��$EO ��:

��������� ��  ���	��
 ��� ���������� ��������� �������� �
� ���		�������
� �����
�� ���
�� ��  �
���� ������� 	���� �������� ����������� �
  ���	��
 ��� �������� ���$
���� ����������	� �#� �� ��������� �� ����� ���� /����� ������� ���
�� �����	���$
���
� ��� �� ������� ��
� ���������0 �� �� �����
��� �
� ��� ����	��
�� /���������
��� 	���+��� % ������0 �� ������ ��� ���
��� ��� �� ���+�� �� �����	
��� ��	������� /��
�����	
���� ��� ���	����� =T����0� �� 	�+��" �
��� % ����" � ��� ��	
��� �� 3 	�����<����
�
����� ����� �
  ���	��
 ��
� ��� ������� �
������ ��	����
���

'�� �����
��" �� ��	���	�� ���	�
������� ��
� ��������� �����
� ��� ����� 	����$
����� �
������� ���� ����#��� .

A P� ������ �
�����
� �
 ��
�� �� �2 �8 ���� ��� ����	��
�� C�����6�� /	� ��
��
��� �
�����
� �
 ������ ����
�� ��� 
� ��
� ��������	����0�

A P� ������ �
�����
� �
 ��
�� �� ?: �8 ���� �� ������ N4����O �
 	������<���
/	� �
� 	��������� % �:2 =�80�

A P� ������ �
�����
� �
 ��
�� �� �?: �8 ��
� �� ����� ��� �����
� N4����O ��
N1
���O ��� 	������<�����

��� 	��������� ��� ��
� +
� ��������#��" �
���� �
� �����+��" �� ���	� ��
� ���	$
���� ���� ��
�� 4� ���� ��	�������" ���� �� ������!�� ��� �������" ����������� 	����
������#	�����" 	���� ��
� �� ������� �
� ����������� ������

G�#�" ��� ��� �����	�� �
 ����	��
� ��� ��� �
����� ������� ��
�� �� �
��� �


	
� ��� 	���+��� % ������ ��� 
�� �����
���� �� ���
����� /∆P

P
0 �� 2":; ��
�


� ����� ������� �� ����
� % �2◦ �� �� � % �; ��
� 
� ����� �
�����
� % �2◦� ��
�����
���� �� ������� ������� ��� �� � ���� �� 	���� �� ������� �U��
��� �� 3 ����� ���
�	���������
�� ��� K1V �&���� 
�� �����
���� �� ����� �� �3� �� ��
� ��� ���	�����
�� �� �D3 �� ��
� ��� ������ ��� 	������<���� ���	�����������
�� ��� 
�� �����
����

�� ������� /∆E
E

0 �� �2;/
√

E(GeV )� ���	�
������� �� ������� �����  ���� % 
� ��
�

�� �:22 ���������� ��� ��	�����" 	� �
� 	��������� % ?": =�9�� �� ����� ���� ���
����� �� ����
� % ?;�
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�������� 	

��
�� �� �
�����
� �� �� �
����
�

��� ���
���
����

���+*�� �� 	���� ����!�� ����� �
� �� ���	���� �� ����
	���� �� ∆+ ��� ��&
����
������� ����
���� �
� �� ������� �����$%$���� �
� ��
� ����� 	���	�� % ������ ��
���	���� ep → e∆+γ� 5�
� �����" ��� �� �
���" �����
 ����� ��
�� % �������+�� �� ��
������ ��� �������	�� �
 �
	����" �� ��
� ����� ���	 	�������� ��
� ������������
��� ���	����� . ep → eN∗γ �) �� ����� �
 N∗ ���	������� �� �"� 7�8 % �"? 7�8�
���� �� �
���" �� ��������� ∆V CS �� N∗V CS ����
�� �� �� ����
	���� �� �������	��
��� ��&
���� ������� ����
���� �����	�������� ���� �� ������ �
 ∆ /����� �� ��
�������	�  ����� �� ����
�� �"�D 7�80 �� ���� ��� ������� �
�����
�� �
� ∆ /�����
�
�����
�� % �"�D 7�80� W
��� �������� �
 ∆+ �
 ��
�� �������	� �� ����� �
�����
��
��� 	���
� �� ��	�������	� ����	���
� ���� .

�� N∗ → nπ+

�� N∗ → pπ0

���� �� ������� 	��" �� ! � �
���� �����	
��� ���� ������ #��� . 
� ���	����" 
�
��
����" 
� π+ �� 
� γ� ���� �� ��
��<�� 	��" ��
� �� ����� 	��� . 
� ���	����"

� ������ �� ����� γ /��� π0 ��	�������� % �D"D; �� ��
� γ �� ≈ 8, 0 10−17� �� ���
��!����0� ����� �� ��� �
 ���� �� 	������� �" �� γ ��������� �
 ��!�������� ��
�����	���� /���	���
� ��������0 ��� ������ ���� ��� ������ ����� �� ��������� ������
�$
���� *����� ��� ����	��
��� 5�
� ��
���� ���	 	��������� �� γ 	���� �� �����	
��
����
���� �
 �!��<��� 4� ���� ��	�����
�� % ������ �� �� 	��������
� ��� �
����
�����	
���� 
����" ������$��
� 	��������� �� ����	���" �
 	���� .

�� 
� ���	����" 
� ��
���� �� 
� π+

�� 
� ���	����" 
� ������ �� � γ�

��?
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���� ��� A #��
���
�����
 �� �� 
������
 �� ∆V CS�

���� �� 	���� �� 	���� ��<��" ��
� ������� 	�������� �
� �� �����<�� ������� ��
��	���� �������� �� �&�� �� ����������� ������� % ����	��� 
�� �����	
�� �
�������$
������ �� ��
�  ��+�� �(	�	��� �� ����	���� �� 	��� �����	
���" ����	��� % �� ��
�����
�����
���� �
� % �� ��	�����
	���� �
 π0" ���
�� �� �&�� ��� ������� �� ��
���� ��
��$
����� ��
� ������!�� �
 ∆V CS �
 �
 N∗V CS� �� ���	���� ∆V CS ��� ����������� %
������ ��
� ��������� �� V�!���� �
� �� #�
�� ����

�� �����<�� ����� �� ������!�� 	������� % ������#�� �� % 	���	������� �
 ���
� ���
�����	
��� �
� ��
� �����������" % ������ �����	����" �� ���� �� �� ��
����� '�� �� �
���
��
� ��	������ �� ���	��
�� �� ����	���� ��� ���	�����" ep → eN∗γ �� ep → e∆+γ�

��� �������
����� ��� ��
��
���� 
��
�	��

����� ��������	�

�����	���� ��� ������#� ��� �� ��������� �� ��	�����
	���� �� ��
� 	����

�� �����	
�� ������������ 	������ /	����$%$���� ��I�	��� ���� ������� ��� �� 	����
��������
� �� ��
�0 �!��� �������� ���
��������� ���� ��� 	�����
�� C�����6��
�� ��� 	������<���� ���	�����������
��� R�������� �
� 	���� 	� ������ �
� ��	���	��
���	�
������� �� ��#��� �� ����� ��������� tvtx �� �� ���	����� 4� ��� ��	������� �� +���
������#�� 	���� �����	
�� �� ��� 	���<��� �
������������� �� 	����	���� ���� ��������$
��+���� G� �&��" ��� ����� ������������ 	������ /π−0 ��
���� ��������� ��������� %
��  ��� ���� ��� 	������<���� �� ��� C�����6��� ��� 	�
�
��� ������
��� ��
� �
�������
	���� 	������������ 
�������� ��  ��� �
� 	�� ��
� �����	
���" �����	���� �� �� π−" ��$
����������� ��&�������� ���� ��� ����	��
��� 5�
� ������ ��	���� ���� 	� ����������
��� 3 	�
�
��� �&�	�
����
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 �� ���
�
��� ������� ��
� �� ��
��� %(	��
' Eout� �� ��	�	
�
� ��� )��� * Ein > 0, 05 +��

'�� �����
��" 
��  ��� �����	���� ������#�" ��� ������� ��� ���
��� �� �� ���*�	�����"
�� ��	�����
��� % ������ ��� �������  �
����� ��� ��� 	���+��� % �������

��	�	
� $

��� �����" �
� ����
��� �� ����	���� �� �����	���� ���� ��
�" ��� 
��
������� ����� �
���� ���������� ��� 	������<���� ���	�����������
�� �
 ��$
���
� ������������� 4�� ������� ����� 
��  ��	���� 	�������� ���������
������������ �� ��
� ���
����� ��������� �����  ��	���� ��������� ����
�
�� ������ �
� �
 �!�� �� �������� 
������ �� �� ���������
� ���������� ����
��� 	������<����" ��� ����� ������� ������� � MeV/cm� G� �����	��" ���
���	�����  ������ 
�� ���+� ���	�����������
�" �� ��������� ������� ����
H��� ��������������� % �����
����� �������� �� �� �����	
���

�� ������ N4����O �
 	������<��� ���
�� �: 	� �� �� ������ N1
���O �3 	��
1� �������� ���	" ��
� ��� �����" % 
� ���F� ���������" �����	��������
�� �2 =�8 �� �� 3D =�8� �� #�
�� ��� ���������� ��������� �������
���� �� ������ N4����O Ein ��  ��	���� �� ��������� ������� ���� �� ������
N1
���O Eout" ��
� ��� �����	
��� ����	�������� 	���� ��� ���	����� ����
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��� ������ ������� ��
� �� ����
����
� Etot� �� ����
�-	���
 ��
�.�
/
���� �
 -�� �	 �
���� ��� ��
��� ��
 ��� ���
�� �� ��	�	
� ��� 
��
���
��� �
 �
����
����
�

�� �� �����<�� ������#	������ �� ��	�� ��
� Ein ≈ 30 =�8 �� Eout ≈ 50
=�8 ������� +��� �� �� ������	� �� ������ 1� ! �������
� ��������� ���
���	����� ��
� Ein 	������� ����� �22 =�8 �� �22 =�8� 1� �&�	�
� ���	

�� �����<�� 	�
�
�� .

Ein > 0.05GeV /���0

����� 	�
�
�� � ��� 	��	
��� �
 ��
� *
��� ��  �X�� % �� ��� ��������� ��
���������
��

��	�	
� ,

�� ��
��<�� 	�
�
�� 
������ ��  ��� �
� ��� ���	����� �������� 
�� �������
��������������� % ��
� ���
������ �� #�
�� ��� ���������� ��������� ������
������� Etot ��  ��	���� �� �����
����� Pe �� �����	���� /���
��� % ������
�� �� ���*�	����� ���� ��� 	���+��� % ������0� 1� �+����� �� ���	� ���
���	����� ��
� Etot ∝ Pe �� 	���� ��� ����� ��
� Etot ≈ 75 =�8 /��
	�
�
�� � ���!��� ��� ��� �&�	�
�� �
� 	���� #�
��0� 5�
� ����	��������
��� +��� ���������� ���	 �� 	�
�
�� �
������ /����������� �� ����� �����
�
� �� #�
��0 .



���� 4�����#	����� ��� �����	
��� 	������� ���

Etot > −0, 14 + 0, 31 Pe /���0

Etot < 0, 05 + 0, 34 Pe /���0

��	�	
� 0

=������ ��� ��
� 	�
�
��� ���	�������" �� ����� ��	��� 
�� 	������������
���������� �� π− ��
� ��� ���	����� �� +���� ���
����� /Pe < 1GeV 0�
�� ������<�� 	�
�
�� �� ���� ���	 ��H��� ������������ �� ���������� '�
�
	���" ��
� 	���������� �� ������� ����� ��������� ������� �� �����
�����
�� �����	���� - 	� ������� ���" 	���� ��
� ������� �
 ���	��������" 
��
	�������� . Etot/Pe = 0, 29� 1�" ��
� ������ �
� �� 	������<��� ��� ������
�� ��
� ������� �� �
� ��������� ������� ����#� . Etot = Ein + Eout� 5�
�
����� ���	 �� �������� �������� �
������ .

Eout

Pe
= 0, 29 − Ein

Pe
/��30

G� �����	��" ��
� ��� �����" �
���
� �� ���F� ��������� ��� 	������� �
����
�
� ���� ��
� ���
�����" �� � .
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∝ 24
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, /��:0

�) �3 �� �: ���� ��� ������	�� �� 	� �� 	���
� ������ �
 	������<����

�� #�
�� ��3 ���������� Eout/Pe ��  ��	���� �� Ein/Pe�

1� ! �������
� �� ���	� ������� ��� ��� ���	����� �� 	���� ������� ��� ���
������ �� 	�
�
�� ��� ����� .

Eout

Pe
> 0, 23 − 1, 1

Ein

Pe
/��E0

��	�	
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� ��!��������



��� �������� �� ����� �� ����	���� �� �� ���	����

/P out E
0.02 0.04 0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2

/P
 

in
 E

0

0.05

0.1

0.15

0.2

0.25

0.3

0.35

0.4

���� ��3 A ��	�	
� 0� #����
� Ein/P �
 ��
����
 �� Eout/P � �� ����	���
 ��� ���
�
��

���
� * �� ����
�-	���
 �	 -��� �� ��	�	
� ��� �
 �
��� ����
�

 10×nphe  
0 50 100 150 200 250

N
b

 d
e 

co
u

p
s

0

500

1000

1500

2000

2500

3000

-e

π

���� ��: A ��	�	
� 1� 2����
� �	 
��-
� �� ����������
�
� 3�	������� ��
 $45 ���
������	
� ���
�
��� ��	
 ��� ��
���	��� ���
��)��� ����� ��� �����
�
�� �� ��	�	
�
��� 6 nphe > 25/10



���� 4�����#	����� ��� �����	
��� 	������� ���

C�����6�� /�� ����
� ��
�� ��� �� �": 7�80" �� ��
����" % ������ �� 322
=�8" ����
���" ��� ������	���� ���	 �� ��U �
 �� ���
�
�� �
 ����	��
�"
��� ���	����� /���� ���	����� δ0 �
�" �
�" ��� �
(������� ��������� />
9=�80 ��
� ����
��� 
� ������� 1� �������� % 	� �
� ����������� �� 	��
�����
� ���� ������������  ��+��� /�� ������� �� � % � ��������	�����
���� ��� ������
������	���
��0� �� #�
�� ��: ���������� �� ���+�� ��
��������	����� nphe ��
� ��� �����	
��� ������#��� 	���� ��� ���	������
�� ��	 �� ��
	�� ���  ���� ��� ��� ������ 1� �&�	�
� ���	 �� 	�
�
�� .

nphe > 25/10. /��?0

����� �� ��	�

��������#	����� ��� ����� ��� �+���
� % ������ �� ��
� �� ��������� . ��
�� ���� ��
���*�	����� �� �� �����	
�� ���� ��� 	���+��� % ������� /����� �� ������	� ���	�
�
�
�� �����
�����0 �� ���
��� ���� ��� ����� �� ��� /����� �� �������0 ���
�� ��� ���
�	���������
�� NK1VO /NK��� 1 V�����O0� �� #�
�� ��E ����� �� ������� β /����������
% 	���� �� �� �
��<��0 ��  ��	���� �� �����
����� Pπ+ �� �� �����	
��� ��� 	�
�
���
�&�	�
��� ���� ������������ �
� �� #�
�� �� ����� ����� �� ���	������ .

β <
Pπ+ + 0, 05√

(Pπ+ + 0.05)2 + 0, 1342
+ 0, 035 /��D0

β >
(1 + 5, 35 (Pπ+ − 0, 07))(Pπ+ − 0, 07)

(1 + 5 (Pπ+ − 0, 07))
√

(Pπ+ − 0, 07)2 + 0, 1342
− 0, 1 /���0

��� 	�
�
��� ��� ��� 	��	
���� % ������ �� ������������ �������� ����� �����
�����
��
�� �����	
�� �� �� ������� .

β =
p√

p2 + M2
/���20

�) M ��� �� ����� �� �� �����	
�� 	��������� �� p ��� ���
������
G�  ���" �� ������#� �� �����	
�� �� 	��	
���� �� ����� % ������ ��� �� ���������

 �
����� ��� �������+�� ��� ����	��
�� . 
��  ��� �� ����� tvtx �� �� ���	���� ��������
�+���
 % ������ �� �����	���� /	 Y����30" ������ tTOF �� �����  �
�� ��� ��� K��
��� K1V" d �� ������	� ���	�
�
� ��� �� �����	
�� /���
��� �� �� ���*�	����� ����
��� 	���+��� % ������0 �� p �����
����� �� �� �����	
�� /�+���
� �� 	��+����� ��
	�
�+
�� �� �� ���*�	����� ���	 �� ����
� �
 	���� ��������
� �� ��
��0" �� � .

β =
d

(tTOF − tvtx)c
/����0
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Code d’analyse: TClasAna − TClasSelector

Code de reconstruction: Recsis

Données sur les particules reconstruites à partir de la réponse 
simulée de CLAS (format: bosbank).

Données physiques: Quadrivecteurs, Masses manquantes etc... (format: ROOT)

Réponse de l’ensemble des détecteurs de CLAS (format: bosbank)

Simulation du détecteur CLAS:  GSIM

Calcul cinématique

Tirages aléatoires sur les calculs

théoriques des sections efficaces

(format: bosbank)

θ, φ

Générateur d’événements

Evénement: Q2, W, 

Evénement: k, k’, p’, p
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������ ��� �������������� xi �� yi ��� 
�� ��
����� �	��
������ ������� -

yi =
α xi

1 + xi(α − 1)
&���*

�����(�� ������ �� �� !��������� ������!� α ��� ��
" �������� �
 ������� -

α = P 0
B/P 0

A

�1 P 0
B �� P 0

A ���� ��� ��������� �� !���
� ���
����� ��� ��
" �������� �
 ��������

�� 	����� ����������

��
� �!��� ������ ��(����
� �� �������� �	��
������ ����� ��� �������������� ���
������ ���
��� �� !���
� �	
� �0�� ������
� '�� �	������� �	�!��
���� ��� ������(
�������� �	
� ������
 
 �	�
��� ��
� ������ ������ �� �������� ������� xi 
 �� ��������
������� yi−1 &������������� �� ������� ) �� �� !���
� �������� !��� �� ������
 i*�

2�
� ���� ��
� ������ 
������� ��� ����� !���
�� �
�!����� -
. 3 ��� �� ����� ������� ����� �� ��$
" ���� �� ������� &�
 ����� �� ���
���

���������� !��� �� ��
����
�*�
. 4 ��� �� ����� ������� ����� �� !���
� �������� ���� �� ��������
. 5 ��� �� ����� ������� ����� �	�"�������� �
 ����������
. r = R/D ��� �� ��
" �� ��$
" - ������� ����� �� �
������ �� ���
��� ����
�����

���� �� ������� �� �� �
������ �� ��������� �"������
%� ���� ����� �� ����� �� ����6�� �
� 
� ������
 i ����� -

V yi + R xi = V yi−1 + R xi+1 &���*

�� �
� ��
� �� ���� - ��
� �	������� ) �� �
������ �� ����6�� ������� �
 ������

i !��� �� ������
 i+1 &���� �� ����� ��7�
��* �� ����� ���������� �� �
 ������
 i !���
�� ������
 i−1 &���� �� ����� ���
���* ��� ����� 
 ��� �	������ �� ����6�� ����������
�
 ������
 i + 1 &���� �� ����� ���
���* �� ������� �
 ������
 i− 1 &���� �� �����
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��7�
��* 9 �
 ������ �� �
������ �� ����6�� �	��������� �	
� ������
 ��� ��������
��� �� �
������ �� ����6�� ����!��� �
� �� �0�� ������
�

+� ������� ��� ��
������ ��� �
 ����� �� ����6�� �
 ������
 i �
 ������
 n 

n∑
k=i

(V yk + R xk) =
n∑

k=i

(V yk−1 + R xk+1) ,

�� ������� �� �������� - V yn +R xi = V yi−1 +R xn+1 ���� �!�� yn = xn+1 = xD -

V xD + R xi = V yi−1 + R xD

�� �
� ��
� �	������ -

yi−1 =
R

V
xi +

V − R

V
xD

+� ������
��� �
� V = R + D �� ���� r = R/(V − R) �� � ��������� -

yi−1 =
r

r + 1
xi +

1

r + 1
xD, &���*

�������� �
� ������ �� ������ ���������� ���� �� ���� : "�
5�� ���� �� �������� �	������� �� �+, �� ��
" ��;��� ��<������� �� �����6��

��� ����� �
� 
�� ������
����� �������
� �� =�� ���� �� ,����� �� ��
"�6�� �
�
�	������������� �� �� �������� �� >���?��

�
��������
� �� �	��	�� �� ������

/
� 
� ������ �� ����� �� ��
��� �	��
������ y = fe(x) &������������� 
 ��
�������� �	��
������ ������ ��
����� ���* �� �� ������ ���������� y = fo(x) ��������(
���� 
 �	��
����� ���� �� ������ ��� ���������� �
� �� ��
�� ��� ��
� ����� !���
��
��<������� �
 ��
" �� ��$
" r &∞ �@ �� �* �� 
�� !��������� ������!� α = 3

2������ �	
�� ������������� xB ���� �� ��
����
� �� �@A y1 = fe(xB) �����
�� ������������� �� ) ���� �� !���
� ������� !��� �� ������� ������ �	������������
����� �� ������ y = y1 �� �� ������ ���������� ����� �� ������������� x2 �� ) ���� ��
����� ���
��� �
 ������� ������
� +� ��������;��� �	��������� 
 ������ �� x2 ��
������� x3 ������ %� �	���0�� �����
	�� ������� �� ������������� !�
�
� ��
� �� ���������
&��� B@A*� %� ��
� ����� ��������� �� ������ �	������ �����������

%� !��� �
� �� ��
" �� ��$
" 
 
�� ������ ���������� ���� �� ��������������
�
 ����������
�� /
� �� ������ �� ��
��� &��
�� ���* �� ��$
" ��� ����� &��� �	�"����(
����* �� ������������� �� ��������� &�� B@A* �� ) ��� �����
� �!�� � ������ �������
��
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	���	
�� �� ��� ���� �	 ��
���� �� ���	 � ������ ���� r = ∞� ��

���	 � ���
	� ���� r = 10 �	 �� ��
 ���� r = 3� ���
 	��
 ��
 ��
� α = 3� xB = 0, 1�
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&8 ��!��
" ����� �� ��!��
 �
 ��
����
�*� +� ��!����� ��
� r = 10 �� �� ��
� 8 �

����� �� ��
� r = 3 �
�
�� ������������ �	��� ���������

2�
� �"������ ��� �������� �� ������������� ��6� ������ &xB → 0* �� ��
� 
�������
�� !���
� �
 ��
" �� ��$
" �� ��
� ������ ��������� %� ������ �� ��
" �� ��$
"
�����
� rmin 
 ������ �� �� ������ ���������� ��� -

fe(xB) =
rmin

rmin + 1
xB +

1

rmin + 1
xD

rmin =
xD − fe(xB)

fe(xB) − xB

&��8*

. �
��� r → ∞ �	�"�������� ��!���� �
��� ���� �� �+, ��� ��������

. �
��� r → rmin �	�"�������� ��� ��"����� ���� �� �+, ���� !��� �	������

����� �������
� �� ����� ����

+� ������
� �	��
������ ����� �� ����� ���
��� �� �� !���
� �	��� E����� �������� ��
��
� ����� ������ �� �	�F������ ��� ������
"� +� ������� ��
� ������� 
� ������ ��
������
 �������� �� ������ �
� ��� ������
" ��� 
� ��������� �� D@A 
 G@A &�6���
�������
�*�

���	��
� �� ������

�� �������� �� >���?� ������ �� ���������� �� �+, �� ����������� �
� �� ��
"
�� ��$
" ��� ������ %� ������ ����� 
� �+, �����
�� ����� ������� ��� �����
������� �
� �� ���������� ��� ���� �� ���� ��� �����!���� �� ��
" �� ��$
" ����
������ 
�� ���������� ������ �
 ������ �� ������
" ������������ �	��
����� ���
��
� �	������ -

yi

1 − yi
= α

xi

1 − xi

2
�� 
 ������ �	
� ������������ ��� ���
������ �
� �	������ i &������ �� � 
 �* 
�� ������� -

xD

1 − xD
= αn xB

1 − xB

�
 ������ 

n =
ln

(
xD (1−xB)
xB (1−xD)

)
ln α

, &��C*

�
� ��� �� �������� �� >���?��



��H

%� � ����� - NET = n − 1 &��
� ������� �	����� ������������� �
 ��
����
�*�
I�� �6��� �������
� ������ �	������� 
�� ���������� �
 ������ ���� �� ������
 -

N = 2.NET/0, 7 �
 @ H ���������� �
 ��������� ��� ������
"�
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" �
� �
�!��� ������� �	�������� ��� �����
�� �� ���������� ������
��
�
" ��
����� &�� J����8*�

��� ��
" �������� ������
" ������� ��
� ����
� �����!���� �� θ �� φ &��
" ���(
��6��� ��������* �� ��
� ����
� �����
� �� ��'/ &D �����6��� ��������* �� ��������

 ��E�
��� �� �� �
 �����
�� ��� ��
������ �� �����
�� ��� ����� ����� �� ����
�
�
�� �� ������ ������� �� �������� �
 !����" �� �� �������� �� �� ����� �	������ ���� ��
������ K�����L �
 �������6��� ��
� �� ������� ������
 �
 ���� �� ������ K%
���L ��
�
�� ��
"�6�� ������
�

��� ��
" ������
" �
�!���� ������� ��
� ����
� �����!���� �� θ �� φ &��
" ���(
��6��� ��������* �� ��
� ����
� �����
� �� ��'/ &D �����6��� ��������* �	����� ��
����� 
 ��E�
��� 
 �	����� θ ������� ��� ��� �������6���� &��� ����� ���� 0��� ����(
��������� ������� �� �� �������� 7 �
� �
�!��� �� ����� �� �������
 �
 !����" �� ��
��������*� �� ������� ������
 ����� ��� ���<��� ���� �� ��� �1 �� ��
���� � �����(
��� ���� �� ������ K�����L �� �� ��
"�6�� ���� �� ��� �1 �� � �������� ���� �� ������
K%
���L�

��B
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>����
�� �� ����������� &�� ��* ��
� ��� �!�������� K�����L
�����!����� θ �����!����� φ �����
�
θmin θmax φmin φmax � � � 8 C D
C�H� �G��� (�G�DC @ D�DG C�G� C�GB C��� C�DB 8�GC
C�H� �G��� @ �G�DC C�H8 D�BH D��G C��8 C�BH D��H
�G��� �C��� (�G�DC (G��B D�8� H��C C�@C D�B C��C C��C
�G��� �C��� (G��B G��B H�C� C�� H��D H�DC C��� C�H�
�G��� �C��� G��B �G�DC G��� C�D� H��G D�B C��B D�CD
�C��� ���@G (�G�DC (G��B 8�BD D�8� D�@� D��� C��C 8�CH
�C��� ���@G (G��B G��B C��D C�BG D��� D��G 8��B 8��B
�C��� ���@G G��B �G�DC D�8� C��D D�H8 C�H� 8��� D��
���@G �G�BD (�G�DC (���8D D�B� D�8� C��� C�G� ���� 8���
���@G �G�BD (���8D @ D�B8 H��� D�@� H�DG C��D 8�8B
���@G �G�BD @ ���8D H�� D�GH C�8C D�BC C�� 8�H�
���@G �G�BD ���8D �G�DC H��� C��� C��� G��� 8�8� C�B�
�G�BD C��CD (�G�DC (���8D G�@� B�8G D�HB D�DG 8��� C��D
�G�BD C��CD (���8D @ ���B8 ���CD ���BC ���C� C�8� B�BB
�G�BD C��CD @ ���8D B�CC ����G G�D� �@�B� D�BC H��D
�G�BD C��CD ���8D �G�DC B��� H��D B�@� H�GD C��D H�B�

>����
�� �� ����������� &�� ��* ��
� ��� �!�������� K%
���L
�����!����� θ �����!����� φ �����
�
θmin θmax φmin φmax � � � 8 C D
C�H� �G��� (�G�DC @ �@�C8 B�8G �@�DD �@�@G ����� ���G�
C�H� �G��� @ �G�DC ����D ���HD ����D G�G8 B�BH �@��H
�G��� �C��� (�G�DC (G��B �@��C B�DD ����� G�GC B��� �@�GG
�G��� �C��� (G��B G��B B�B� �@��� B�@H B�BC ���@C ���D�
�G��� �C��� G��B �G�DC ����� ���B� ���BB �@�GH B�H8 ���8D
�C��� ���@G (�G�DC (G��B G�B� �@��G ����� �@��� �@�8D ���@B
�C��� ���@G (G��B G��B ���8� ���HC �@�H� B�B� ����8 ����B
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���@G �G�BD (�G�DC (���8D �@�8G B��� ����� B�DD ���HD �����
���@G �G�BD (���8D @ B��� G�DC ���C G�HH ���DC ����H
���@G �G�BD @ ���8D �@�C� B�8C ���� B�GB �@�DD �@��C
���@G �G�BD ���8D �G�DC B�B ���@H ���G B�CG �@�H� ���CD
�G�BD C��CD (�G�DC (���8D G�@� B��8 G�8� G�HH ���G� ���GG
�G�BD C��CD (���8D @ ��C G�8� ���� G�� B��D H�B
�G�BD C��CD @ ���8D ��H� ���8 C�CB D�@H H�@B G�D8
�G�BD C��CD ���8D �G�DC B�B� C��C G��D C�HC �@�C� �@�H
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���L
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θmin θmax φmin φmax � � � 8 C D
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